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Consider the following statements :

Statement-I :
The atmosphere is heated more by incoming
solar radiation than by terrestrial radiation.

Statement-II :

Carbon dioxide and other greenhouse gases in
the atmosphere are good absorbers of long
wave radiation.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-Il does not
explain Statement-I

(¢) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

Consider the following statements :

Statement-I :
Thickness of the troposphere at the equator is
much greater as compared to poles.

Statement-1I :

At the equator, heat is transported to great
heights by strong convectional currents.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correcc and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

(3-A)

Consider the following :

1% Pyroclastic debris

2. Ash and dust

3. Nitrogen compounds
4. Sulphur compounds

How many of the above are products of
volcanic eruptions ?

(a) Onlyone

(b) Only two
(¢)  Only three
(d) All four

Which of the following is/are correct
inference/inferences from isothermal maps in

the month of January ?

1 The isotherms deviate to the north over
the ocean and to the south over the
continent.

2. . The presence of cold ocean currents,
Gulf Stream and North Atlantic Drift
make the North Atlantic Ocean colder
and the isotherms bend towards the
north.

Select the answer using the code given below :
(a) 1lonly

(b) 2only

(¢) Both1and?2

(d) Neither 1 nor 2

Which of the following countries are well
known as the two largest cocoa producers in
the world ?

(a) Algeria and Morocco
(b) Botswana and Namibia
(c) Cote d’Ivoire and Ghana

(d) Madagascar and Mozambique
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With reference to the Himalayan rivers
joining the Ganga downstream of Prayagraj
from West to East, which one of the following
sequences is correct ?

(a) Ghaghara — Gomati — Gandak — Kosi

(b) Gomati— Ghaghara — Gandak — Kosi

(¢) Ghaghara — Gomati — Kosi — Gandak

(d) Gomati— Ghaghara — Kosi — Gandak

Consider the following statements :

Statement-I :

Rainfall is one of the reasons for weathering
of rocks.

Statement-II :
Rain water contains carbon dioxide in
solution.

Statement-III :

Rain water contains atmospheric oxygen.

Which one of the following is correct in

respect of the above statements ?

(a) Both Statement-II and Statement-III
are correct and both of them explain
Statement-I

(b) Both Statement-II and Statement-III
are correct, but only one of them
explains Statement-I

(¢) Only one of the Statements II and III is
correct and that explains Statement-I

(d) Neither Statement-II nor Statement-III
is correct

Consider the following countries :

1. Finland
2. Germany
3. Norway

4. Russia

How many of the above countries have a
border with the North Sea ?

(a) Only one

(b) Only two

(¢) Only three

(d) All four
KSPC-P-GSPO

10.

(5-A)

Consider the following information :

Waterfall Region |River
1. |Dhuandhar |Malwa |Narmada
2. |Hundru Chota Subarnarekha
Nagpur
3. | Gersoppa Western |Netravati
Ghats

In how many of the above rows is the given

information correctly matched ?

(a) Only one

(b)  Only two
(c) All three
(d) None

Consider the following information :

Region |Name of the |Type of
mountain mountain
range

1. |Central |Vosges Fold mountain

Asia

2. |Europe |Alps Block
mountain
3. | North Appalachians |Fold mountain
America
4. |South Andes Fold mountain
America

In how many of the above rows is the given

information correctly matched ?
(a) Only one

(b)  Only two

(¢) Only three

(d) All four
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11. Consider the following airports :
1.  Donyi Polo Airport
2.  Kushinagar International Airport
3. Vijayawada International Airport
In the recent past, which of the above have
been constructed as Greenfield projects ?
(a) 1land2only
(b) 2and 3 only
(¢) 1and3only
(d 1,2and3
12. With reference to “water vapour”, which of the
following statements is/are correct ?
1. It is a gas, the amount of which
decreases with altitude.
2. Its percentage is maximum at the poles.
Select the answer using the code given below :
(a) 1only
(b) 2only
(c) Bothland2
(d) Neither 1 nor2
13. Consider the following description :
1. Annual and daily range of temperatures
is low.
2. Precipitation occurs throughout the year.
3. Precipitation varies between
50 cm — 250 cm.
What is this type of climate ?
(a) Equatorial climate
(b) China type climate
(¢) Humid subtropical climate
(d) Marine West coast climate
KSPC-P-GSPO (7-

14.

15.

16.

A)

With reference to “Coriolis force”, which of the
following statements is/are correct ?

1. It increases with increase in wind velocity.

2. It is maximum at the poles and is absent
at the equator.

Select the answer using the code given below :
(a) 1lonly

(b) 2only

(¢ Bothland2

(d) Neither 1 nor 2

On June 21 every year, which of the following
latitude(s) experience(s) a sunlight of more
than 12 hours ?

13 Equator
2.  Tropic of Cancer
3. Tropic of Capricorn

4. Arctic Circle

Select the correct answer using the code given

below :

(a) 1lonly
(b) 2only
() 3and4
(d 2and4

One of the following regions has the world’s
largest tropical peatland, which holds about
three years worth of glbbal carbon emissions
from fossil fuels; and the possible destruction
of which can exert detrimental effect on the
global climate. Which one of the following
denotes that region ?

(a) Amazon Basin

(b) Congo Basin

(¢) Kikori Basin

(d) Riode la Plata Basin
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17. With reference to perfluoroalkyl and
polyfluoroalkyl substances (PFAS) that are
used in making many consumer products,
consider the following statements :

1. PFAS are found to be widespread in
drinking water, food and food packaging
materials. :

2. PFAS are not easily degraded in the
environment.

3. Persistent exposure to PFAS can lead to
bioaccumulation in animal bodies.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2and 3 only

(¢) 1and3only

(d 1,2and3

18. Consider the following :

1. Carabid beetles

2. Centipedes

3. Flies

4. Termites

5. Wasps

Parasitoid species are found in how many of

the above kind of organisms ?

(a) Only two

(b) Only three

(¢) Only four

(d) Allfive

KSPC-P-GSPO
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20.

(9-A)

Consider the following plants :
1. Groundnut

2. Horse-gram

3. Soybean

How many of the above belong to the pea
family ?

(a) Onlyone

(b) Only two
(¢) All three
(d) None

Consider the following statements :

Statement-I :
The Indian Flying Fox is placed under the
“yermin” category in the Wild Life

(Protection) Act, 1972.

Statement-I1I :
The Indian Flying Fox feeds on the blood of

other animals.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are

correct and Statement-II explains

Statement-I
(b) Both Statement-I and Statement-II are

but Statement-II does
explain Statement-I

correct, not

(¢) Statement-I is correct, but Statement-II

is incorrect

(d) Statement-I is incorrect, but Statement-II

is correct
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21. The organisms “Cicada, Froghopper and Pond
skater” are :

(a) Birds

(b) Fish

(¢) Insects

(d) Reptiles

22. Consider the following statements :

Statement-I :

Many chewing gums found in the market are

considered a source of environmental

pollution.

Statement-II :

Many chewing gums contain plastic as gum

base.

Which one of the following is correct in

respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II explains
Statement-1

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

(¢) Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

28. Consider the following pairs :
Animal found in its
Sonntry natural habitat

1. |Brazil Indri

2. |Indonesia Elk

3. | Madagascar Bonobo

How many of the pairs given above are

correctly matched ?

(a) Onlyone

(b) Only two

(¢) All three

(d) None
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25.

(11=-A)

Consider the following statements regarding
World Toilet Organization :

1. It is one of the agencies of the United
Nations.

2 World Toilet Summit, World Toilet Day
and World Toilet College are the
initiatives of this organization, to
inspire action to tackle the global
sanitation crisis.

3. The main focus of its function is to grant
funds to the least developed countries
and developing countries to achieve the
end of open defecation.

Which of the statements given above is/are
correct ?

(a) 2only
(b) 3only
(¢ land2
(d 2and3

Consider the following statements :

1. Lions do not have a particular breeding

season.

2.  Unlike most other big cats, cheetahs do

not roar.

3.  Unlike male lions, male leopards do not
proclaim their territory by scent
marking.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 2and 3 only
(¢) 1and3only
d 1,2and3
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26. Which one of the following is the correct | 28. Which one of the following shows a unique
description of “100 Million Farmers” ? relationship with an insect that has coevolved
(a) Tt is a platform for accelerating the with it and that is the only insect that can
transition towards food and water pollinate this tree ?
systems that are net-zero (carbon), (a) Fig
nature-positive and that aims to
: & (b) Mahua
increase farmer resilience.

(b) It is an international alliance and a (c) Sandalwood

network of individuals and farming (d) Silk cotton
organisations interested in supporting
and strengthening the development of

the organic animal husbandry. 29. Consider the following :

(¢) It is a digital platform fully integrated
with service providers and built on
blockchain that lets buyers, sellers and 2. Fish
third parties trade fertilizers quickly 3.  Frogs

1 Butterflies

and securely.
How many of the above have poisonous

(d) It is a platform with the mission of species among them ?

encouraging the farmers to form Farmer

Product Organisations or Agribusiness (a) Only one
Consortiums, thus facilitating the (b) Only two
access to global open markets to sell
; (¢) All three
their products.
(d) None

27. Consider the following :

1.  Battery storage 30. Consider the following :

2 Biomass generators 15 Cashew

3. Fuelcells 2.  Papaya

4 Rooftop solar photovoltaic units 3. Rad iihders

How many of the above are considered How many of the above trees are actually ‘
“Distributed Energy Resources” ? native to India ?

(a) Onlyone (a) Onlyone

(b) Only two (b) Only two

(¢) Only three (¢) All three

(d) All four (d) None

KSPC-P-GSPO (13-A)
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31. With reference to radioisotope thermoelectric
generators (RTGs), consider the following
statements :

i % RTGs are miniature fission reactors.

2.  RTGs are used for powering the onboard

systems of spacecrafts.

3. RTGs can use Plutonium-238, which is

a by-product of weapons development.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2and 3only

(¢) 1and3only

(d 1,2and3

32. Consider the following statements :
Statement-I :

Giant stars live much longer than dwarf stars.

Statement-II :

Compared to dwarf stars, giant stars have a

greater rate of nuclear reactions.

Which one of the following is correct in

respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-Il  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(¢) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

KSPC-P-GSPO

33.

34.

35.

(15-A)

Which one of the following is synthesised in
human body that dilates blood vessels and
increases blood flow ?

(a) Nitric oxide
(b) Nitrous oxide
(¢) Nitrogen dioxide

(d) Nitrogen pentoxide

Consider the following activities :

1§ Identification of narcotics on passengers
at airports or in aircraft

2. Monitoring of precipitation

3. Tracking the migration of animals

In how many of the above activities can the
radars be used ?

(a) Onlyone

(b)  Only two
(¢) All three
(d) None

Consider the following aircraft :
1. Rafael

2. MiG-29

3. Tejas MK-1

How many of the above are considered fifth
generation fighter aircraft ?

(a) Onlyone
(b) Only two
(c) All three
(d) None
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36. In which of the following are hydrogels used ?
1.  Controlled drug delivery in patients
2. Mobile air-conditioning systems
3.  Preparation of industrial lubricants
Select the correct answer using the code given
below :
(a) 1only
(b) 1and2only
(¢) 2and3only
(d 1,2and3

37. Which one of the following is the exhaust pipe
emission from Fuel Cell Electric Vehicles,
powered by hydrogen ? :
(a) Hydrogen peroxide
(b) Hydronium
(¢) Oxygen
(d) Water vapour

38. Recently, the term  “pumped-storage
hydropower” is actually and appropriately
discussed in the context of which one of the

. following ?

(a) Irrigation of terraced crop fields
(b)  Lift irrigation of cereal crops
(¢) Long duration energy storage
(d) Rainwater harvesting system

39. “Membrane Bioreactors” are often discussed
in the context of :
(a) Assisted reproductive technologies
(b) Drug delivery nanotechnologies
(¢) Vaccine production technologies
(d) Wastewater treatment technologies

40. With reference to the Indian economy,
“Collateral Borrowing and Lending
Obligations” are the instruments of :
(a) Bond market
(b) Forex market
(¢) Money market
(d) Stock market

KSPC-P-GSPO

41.

42.

(17-A)

The total fertility rate in an economy is
defined as :

(a) the number of children born per 1000
people in the population in a year.

(b) the number of children born to a couple

in their lifetime in a given population.
(¢) the birth rate minus death rate.

(d) the average number of live births a
woman would have by the end of her
child-bearing age.

Consider the following statements :

16ui a0 Non-Banking Financial

Companies can access the Liquidity

India,

Adjustment Facility window of the
Reserve Bank of India.

2. In India, Foreign Institutional Investors
can hold the
(G-Secs).

Government Securities

3. In India, Stock Exchanges can offer
separate trading platforms for debts.

Which of the statements given above is/are

correct ?

(a) 1and2only
(b) 3only

(¢) 1,2and3

(d) 2and3only
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43. In India, which of the following can trade in
Corporate Bonds and Government Securities ?
i Insurance Companies
2. Pension Funds
3.  Retail Investors
Select the correct answer using the code given
below :
(a) 1and2only
(b) 2and 3only
(¢) 1and 3only
(d 1,2and3
44, Consider the following :
1.  Exchange-Traded Funds (ETF)
2.  Motor vehicles
3. Currency swap
Which of the above is/are considered financial
instruments ?
(a) 1lonly
(b) 2 and 3only
(¢ 1,2and3
(d) 1and3only
KSPC-P-GSPO

45.

46.

(19-A)

With reference to the sectors of the Indian
economy, consider the following paiis :

Economic activity Sector
1. |Storage of agricultural |Secondary
produce
2. |Dairy farm Primary
3. | Mineral exploration Tertiary
4. | Weaving cloth Secondary

How many of the pairs given above are

correctly matched ?

(a) Only one
(b) Only two
(¢)  Only three
(d) All four

Consider the following materials :
1.  Agricultural residues

2. Corn grain »

3. Wastewater treatment sludge
4.  Wood mill waste

Which of the above can be used as feedstock
for producing Sustainable Aviation Fuel ?

(a) 1and2only
(b) 3 and 4 only
(¢) 1,2,3and 4

(d 1,3 and4only
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47. With reference to physical capital in Indian

economy, consider the following pairs :
Items Category
1. |Farmer’s plough Working capital
2. |Computer Fixed capital
3. |Yarn used by the Fixed capital
weaver

4. |Petrol Working capital
How many of the above pairs are correctly
matched ?
(a) Onlyone
(b) Only two
© Only three
(d) All four

48. Which one of the following words/phrases is
most appropriately used to denote “an
interoperable network of 3D virtual worlds
that can be accessed simultaneously by
millions of users, who can exert property
rights over virtual items” ?
(a) Big data analytics
(b) Cryptography
(¢) Metaverse
(d) Virtual matrix

KSPC-P-GSPO

49.

50.

(21-A)

With reference to the rule/rules imposed by
the Reserve Bank of India while treating

foreign banks, consider the following
statements :
1. There is no minimum capital

requirement for wholly owned banking
subsidiaries in India.

2.  For wholly owned banking subsidiaries
in India, at least 50% of the board
members should be Indian nationals.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(¢ Both1land?2
(d) Neither 1 nor 2

With Social

Responsibility (CSR) rules in India, consider

reference to  Corporate

the following statements :

) CSR rules specify that expenditures
that benefit the company directly or its
employees will not be considered as CSR
activities.

9 CSR rules do not specify minimum
spending on CSR activities.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2
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51. Consider the following statelﬁents :

Statement-I :

If the United States of America (USA) were to

. default on its debt, holders of US Treasury

Bonds will not be able to exercise their claims

to receive payment.

Statement-II :

The USA Government debt is not backed by

any hard assets, but only by the faith of the

Government.

Which one of the following is correct in

respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-1

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

(c) Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-LI
is correct

52. Consider the following statements :

Statement-I :

Syndicated lending spreads the risk of

borrower default across multiple lenders.

Statement-II :

The syndicated loan can be a fixed

amount/lump sum of funds, but cannot be a

credit line.

Which one of the following is correct in

respect of the above statements ? '

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-1

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

KSPC-P-GSPO

53.

54.

(23-A)

Consider the following statements in respect

of the digital rupee :
1. It is a sovereign currency issued by the
Reserve Bank of India (RBI) in

alignment with its monetary policy.

2. It appears as a liability on the RBI’s
balance sheet.

3 It is insured against inflation by its very
design.

4, It=. :18 convertible

commercial bank money and cash.

freely against

Which of the statements given above are

correct ?

(a) 1and2only
(b) 1and 3 only
(¢) 2and 4 only
d 1,2and4

With reference to ancient India, Gautama
Buddha was generally known by which of the
following epithets ?

8 Nayaputta
2.  Shakyamuni
3. Tathagata

Select the correct answer using the code given
below :

(a) 1lonly
(b) 2 and 3 only
(¢ 1,2and3

(d) None of the above are epithets of
Gautama Buddha
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56.
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Consider the following information :
Archaeological State Description
Site

.| Chandraketugarh | Odisha Trading
Port town
.|Inamgaon Maharashtra| Chalcolithic|
site
.|Mangadu Kerala Megalithic
site
.|Salihundam Andhra Rock-cut
Pradesh cave
shrines

In which of the above rows is the given

information correctly matched ?

(a) land2
(b) 2and3
(0 3and4
(d 1land4

Who of the following rulers of medieval India
gave permission to the Portuguese to build a
fort at Bhatkal ?

(a) Krishnadevaraya
(b) Narasimha Saluva
(c) Muhamma_d Shah IIT

(d) Yusuf Adil Shah

57.

58.

(25-A)

With reference to revenue collection by

Cornwallis, consider the following

statements :

1. Under the Ryotwari Settlement of
revenue collection, the peasants were
exempted from revenue payment in case

of bad harvests or natural calamities.

2. Under the Permanent Settlement in
Bengal, if the Zamindar failed to pay his
revenues to the state, on or before the
fixed date, he would be removed from
his Zamindari.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2 only

(¢ Both1and?2

(d) Neither 1 nor 2

Consider the following statements :
Al There are no parables in Upanishads.

2.  Upanishads were composed earlier than
the Puranas.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(c) Both1land?2

(d) Neither 1 nor 2
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59. Consider the following statements :

1. India is a member of the International
Grains Council.

2. A country needs to be a member of the
International Grains Council for
exporting or importing rice and wheat.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Bothland2

(d) Neither 1 nor 2

60. Which one of the following was the latest
inclusion in the Intangible Cultural Heritage

List of UNESCO ?

(a) Chhau dance

(b) Durga puja

(¢) Garba dance

(d) Kumbh mela

KSPC-P-GSPO

61.

62.

63.

(21 -K)

Who was the Provisional President of the
Constituent Assembly before Dr. Rajendra
Prasad took over ?

(a) C.Rajagopalachari

(b) Dr. B.R. Ambedkar

(¢) T.T. Krishnamachari

(d) Dr. Sachchidananda Sinha

With reference to the Government of India
Act, 1935, consider the following statements :

1 It provided for the establishment of an
All India Federation based on the union
of the British Indian Provinces and
Princely States. '

2. Defence and Foreign Affairs were kept
under the control of the federal
legislature.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

Which one of the following is a work
attributed to playwright Bhasa ?

(a) Kavyalankara

(b) Natyashastra

(¢) Madhyama-vyayoga
(d) Mahabhashya

Sanghabhuti, an Indian Buddhist monk, who
travelled to China at the end of the
fourth century AD, was the author of a
commentary on :

(a) Prajnaparamita Sutra
(b) Visuddhimagga
(¢) Sarvastivada Vinaya

(d) Lalitavistara
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65. Consider the following properties included
in the World Heritage List released by
UNESCO :

i Shantiniketan

2. Rani-ki-Vav

3. Sacred Ensembles of the Hoysalas

4. Mahabodhi Temple Complex at
Bodhgaya

How many of the above properties were

included in 2023 ?

(a) Only one

(b)  Only two

(¢) Only three

(d) All four

66. As per Article 368 of the Constitution of India,
the Parliament may amend any provision of
the Constitution by way of :

1.  Addition
2. Variation
3. Repeal
Select the correct answer using the code given
below :
(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only
d 1,2and3
KSPC-P-GSPO

67.

68.

(29-A)

Consider the following countries :
15 Italy

2 Japan

3 Nigeria

4.  South Korea
5 South Africa

Which of the above countries are frequently
mentioned in the media for their low birth
rates, or ageing population or declining

population ?

(a 1,2and4
(b) 1,3and5
(¢) 2and4only
(d) 3and5only

Which of the following statements are correct
in respect of a Money Bill in the Parliament ?

1.  Article 109 mentions special procedure
in respect of Money Bills.

2. - A Money Bill shall not be introduced in
the Council of States.

3. The Rajya Sabha can either approve the
Bill or suggest changes but cannot reject
it.

4. Amendments to a Money Bill suggested

by the Rajya Sabha have to be accepted
by the Lok Sabha.

Select the answer using the code given below :
(a) 1and2only

(b) 2 and 3 only

(0 1,2and3

(d 1,3and4
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69. Which of the following is/are correctly
matched in terms of equivalent rank in the
three services of Indian Defence forces ?

Army Airforce Navy
1. |Brigadier |Air Commander
Commodore
2. |Major Air Vice Vice Admiral
General Marshal
3. | Major Squadron |Lieutenant
Leader Commander
4. |Lieutenant | Group Captain
Colonel Captain
Select the correct answer using the code given
below :
(a) 1land4
(b) 1and3
(¢ 2,3and4
(d) 3only

70. The North Eastern Council (NEC) was
established by the North Eastern Council Act,
1971. Subsequent to the amendment of NEC
Act in 2002, the Council comprises which of
the following members ?

) X Governor of the Constituent State
2. Chief Minister of the Constituent State
3. Three Members to be nominated by the
President of India
4. The Home Minister of India
Select the correct answer using the code given
below :
(a) 1,2 and 3 only
(b) 1,3and4only
(¢) 2and4only
(d 1,2,3and4
KSPC-P-GSPO

71.

72.

73.

(31-A)

.How many Delimitation Commissions have

been constituted by the Government of India
till December 2023 ?

(a) One
(b) Two
(¢) Three
(d) Four

The Constitution (715* Amendment) Act, 1992
the Eighth Schedule to the
Constitution to include which of the following

amends

languages ?

1. Konkani
2.  Manipuri
3. Nepali
4.  Maithili

Select the correct answer using the code given
below :

(a) 1,2and3
(b) 1,2and4
() 1,3and4
(d 2,3and4

Consider the following pairs :

Party Its Leader
1. |Bharatiya Jana |Dr. Shyama Prasad
Sangh Mukherjee

2. |Socialist Party C. Rajagopalachari

3. |Congress for Jagjivan Ram
Democracy
4. |Swatantra Party |Acharya Narendra
Dev

How many of the above are correctly
matched ?

(a) Onlyone
(b) Only two
(¢) Only three
(d) All four



74.

75.

76.
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74. Which of the following statements are correct
about the Constitution of India ?

1. Powers of the Municipalities are given
in Part IX A of the Constitution.

2. Emergency provisions are given in
Part XVIII of the Constitution.

3.  Provisions related to the amendment of
the Constitution are given in Part XX of
the Constitution.

Select the answer using the code given below :

(a) 1and2only

(b) 2and 3only

(¢) 1and3only

(d 1,2and3

75. Which one of the following statements is
correct as per the Constitution of India ?

(a) Inter-State trade and commerce is a
State subject under the State List.

(b) Inter-State migration is a State subject
under the State List.

(¢) Inter-State quarantine is a Union
subject under the Union List.

(d) Corporation tax is a State subject under
the State List.

76. Under which of the following Articles of the
Constitution of India, has the Supreme Court
of India placed the Right to Privacy ?

(@) Article 15

(b) Article 16

(¢) Article 19

(d) Article 21

KSPC-P-GSPO

1.

78.

(33-A)

What are the duties of the Chief of Defence
Staff (CDS) as Head of the Department of
Military Affairs ?

14 Permanent Chairman of Chiefs of Staff

Committee

2. Exercise military command over the
three Service Chiefs

3.  Principal Military Advisor to Defence

Minister on all tri-service matters

Select the correct answer using the code given
below :

(a) 1,2and3
(b) 1and 2 only
(¢) 2and 3only

(d 1and3only

Operations undertaken by the Army towards
upliftment of the local population in remote
areas to include addressing of their basic

needs is called :

(a) Operation Sankalp

(b) Operation Maitri

(c) Operétion Sadbhavana

(d) Operation Madad
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79. The longest border between any two countries
in the world is between :

(a) Canada and the United States of
America

(b) Chile and Argentina

(¢) China and India

(d) Kazakhstan and Russian Federation

80. Which of the following statements about the

Ethics Committee in the Lok Sabha are

correct ?

1. Initially it was an ad-hoc Committee.

2. Only a Member of the Lok Sabha can
make a complaint relating to unethical
conduct of a member of the Lok Sabha.

3. This Committee cannot take up any
matter which is sub-judice.

Select the answer using the code given below :

(a) 1and2only

(b) 2and 3 only

(¢) 1and3only

(d 1,2and3

KSPC-P-GSPO

81.

82.

(35-A)

Consider the following statements regarding

‘Nari Shakti Vandan Adhiniyam’ :
i Provisions will come into effect from the
18t® Lok Sabha.

2 This will be in force for 15 years after

becoming an Act.

3. There are provisions for the reservation
of seats for Scheduled Castes Women
within the quota reserved for the
Scheduled Castes.

Which of the statements given above are

correct ?
(a)
(b)
(¢) 2and 3only
(d)

1,2 and 3

1 and 2 only

1 and 3 only

Which of the following statements about
‘Exercise Mitra Shakti-2023’ are correct ?

1% This was a joint military exercise
between India and Bangladesh.

2 It commenced in Aundh (Pune).

3. Joint response during counter-terrorism
operations was a goal of this operation.

4, Indian Air Force was a part of this

exercise.

Select the answer using the code given below :

(a) 1,2and3
(b) 1,2and4
(¢) 1,3and4
(d 2,3and4
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83. A Writ of Prohibition is an order issued by the
Supreme Court or High Courts to :

(a)

(b)

(c)

(d)

a government officer prohibiting him

from taking a particular action.

the Parliament/Legislative Assembly to

pass a law on Prohibition.

the lower court prohibiting continuation

of proceedings in a case.

the Government prohibiting it from

following an unconstitutional policy.

84. Consider the following statements :

) & It is the Governor of the State who
recognizes and declares any community
of that State as a Scheduled Tribe.

2. A community declared as a Scheduled
Tribe in a State need not be so in
another State.

Which of the statements given above is/are

correct ?

(@) 1lonly

(b) 2 only

(¢) Both1land?2

(d) Neither 1 nor 2

KSPC-P-GSPO

85.

With reference to Union Budget, consider the

following statements :

1.

2.

The Union Finance Minister on behalf of
the Prime Minister lays the Annual
Financial Statement before both the
Houses of Parliament.

At the Union level, no demand for a grant
can be made except on the
recommendation of the President of India.

Which of the statements given above is/are

correct ?

(a)
(b)
(c)
(d)

86.

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Who of the following is the author of the books

“The India Way” and “Why Bharat Matters” ?

(a)
(b)
(c)
(d)

87.

Bhupender Yadav

Nalin Mehta

Shashi Tharoor
Subrahmanyam Jaishankar

Consider the following pairs :

Reason for being in the
news

Country

Argentina | Worst economic crisis

Sudan War between the country’s
regular army and

paramilitary forces

Turkey Rescinded its membership

of NATO

How many of the pairs given above are
correctly matched ?

(a)
(b)
(c)
(d)

(87A)

Only one pair
Only two pairs
All three pairs
None of the pairs
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88.

89.

90.
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Consider the following statements :

Statement-I :

Sumed pipeline is a strategic route for
Persian Gulf oil and natural gas shipments to
Europe.

Statement-II :
Sumed pipeline connects the Red Sea with
the Mediterranean Sea.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

Consider the following statements :
A 5 The Red Sea receives
precipitation in any form.

2 No water enters the Red Sea from
rivers.

very little

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

According to the Environmental Protection
Agency (EPA), which one of the following is
the largest source of sulphur dioxide
emissions ?

(a) Locomotives using fossil fuels
(b)  Ships using fossil fuels
(¢) Extraction of metals from ores

(d)

Power plants using fossil fuels

91.

92.

(39-A)

Consider the following statements :

Statement-I :
There is instability and worsening security
situation in the Sahel region.

Statement-II :

There have been military takeovers/coups
d’état in several countries of the Sahel region
in the recent past.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(¢) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

Consider the following statements :

Statement-I :

India does not import apples from the United
States of America.

Statement-II :

In India, the law prohibits the import of
Genetically Modified food without the
approval of the competent authority.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I s :

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

(¢) Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-II
is correct
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93. With reference to the Speaker of the
Lok Sabha, consider the following statements :
While any resolution for the removal of the
Speaker of the Lok Sabha is under
consideration
1. He/She shall not preside.

2. He/She shall not have the right to speak.

3. He/She shall not be entitled to vote on

the resolution in the first instance.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 1and 2 only

(¢) 2and3only

(d 1,2and3

94. With reference to the Indian Parliament,
consider the following statements :

1. A bill pending in the Lok Sabha lapses
on its dissolution.

2. A bill passed by the Lok Sabha and
pending in the Rajya Sabha lapses on
the dissolution of the Lok Sabha.

3. A bill in regard to which the President
of India notified his/her intention to
summon the Houses to a joint sitting
lapses on the dissolution of the
Lok Sabha.

Which of the statements given above is/are

correct ?

(a) 1only

(b)"~1'and 2

(¢) 2and3

(d 3only

KSPC-P-GSPO

95.

96.

(41-A)

With reference to the Parliament of India,
consider the following statements :

1. Prorogation of a House by the President
of India does not require the advice of
the Council of Ministers.

2. Prorogation of a House is generally done
after the House is adjourned sine die
but there is no bar to the President of
India prorogating the House which is in
session.

3. Dissolution of the Lok Sabha is done by
the President of India who, save in
exceptional circumstances, does so on
the advice of the Council of Ministers.

Which of the statements given above is/are
correct ?

(@) 1lonly
(b) 1land2
(¢) 2and3
(d) 3only

Consider the following statements :

Statement-I :
The European Parliament approved The
Net-Zero Industry Act recently.

Statement-II : :

The European Union intends to achieve
carbon neutrality by 2040 and therefore aims
to develop all of its own clean technology by
that time.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correct and Statement-II  explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not explain
Statement-I

(¢) Statement-I is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-II
is correct
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Consider the following statements :

Statement-I :

Recently, Venezuela has achieved a rapid
recovery from its economic crisis and
succeeded in preventing its people from
fleeing/emigrating to other countries.

Statement-II :
Venezuela has the world’s largest oil reserves.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are
correctc and Statement-II explains
Statement-I

(b) Both Statement-I and Statement-II are
correct, but Statement-II does not
explain Statement-I

(c) Statement-I is correct, but Statement-II
is incorrect

(d) Statement-I is incorrect, but Statement-II
is correct

With reference to the Digital India Land
Records Modernisation Programme, consider
the following statements :

E To implement the scheme, the Central
Government provides 100% funding.

2. Under the Scheme, Cadastral Maps are
digitised.

3. An initiative has been undertaken to
transliterate the Records of Rights from

local language to any of the languages
recognized by the Constitution of India.

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2and3

99.

100.

(43-A)

With reference to the ‘Pradhan Mantri
Surakshit Matritva Abhiyan’, consider the
following statements :

35 This scheme guarantees a minimum
package of antenatal care services to
women in their second and third
trimesters of pregnancy and six months

post-delivery health care service in any
government health facility.

2. Under this scheme, private sector
health care providers of certain
specialities can volunteer to provide
services at nearby government health
facilities.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2 only

(c) Bothland2
(d) Neither 1 nor 2

With reference to the Pradhan Mantri Shram
Yogi Maan-dhan (PM-SYM) Yojana, consider
the following statements :

1 The entry age group for enrolment in
the scheme is 21 to 40 years.

2.  Age specific contribution shall be made
by the beneficiary.

3. Each subscriber under the scheme shall
receive a minimum pension of ¥ 3,000
per month after attaining the age of
60 years.

4, Family pension is applicable to the
spouse and unmarried daughters.

Which of the statements given above is/are
correct ?

(a 1,3and4
(b) 2and 3 only
(¢) 2only

(d 1,2and4
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

According to the Food and Agriculture
Organization, one-third of food produced for
human consumption is lost or wasted globally.
Food is lost or wasted throughout the supply
chain, from initial agricultural production to
final household consumption. The increasing
wastage also results in land degradation
by about 45%, mainly due to deforestation,
unsustainable agricultural practices, and
excessive groundwater extraction. The energy
spent over wasted food results in about
35 billion tonnes of carbon dioxide production
every year. Decay also leads to harmful
emissions of other gases in the atmosphere.
Addressing the loss and wastage of food in
all forms is critical to complete the cycle of food
sufficiency and food sustainability.

1. Which of the following statements best
reflect the most logical and rational
inferences that can be made from the
passage?

1. The current methods of food
distribution are solely responsible
for the loss and wastage of food.

2. Land productivity is adversely
affected by the prevailing trend of
food loss and wastage.

KSPC-B-GSPT/61A

3. Reduction in the loss and wastage
of food results in lesser carbon
footprint.

4. Post-harvest technologies to
prevent or reduce the loss and
wastage of food are not available.

Select the correct answer using the
code given below.

(a) 1,2 and*3
(b) 2 and 3 only
(c 1,3 and 4

(d 1,2 and 4

2. Based on the above passage, the

following assumptions have been made :

1. The food distribution mechanism
needs to be reimagined and made
effective to reduce the loss and
wastage of food.

2. Ensuring the reduction of wastage
and loss of food is a social and
moral responsibility of all citizens.

Which of the assumptions given above
is/are valid?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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Passage—2

As inflation rises, even governments previously
committed to budget discipline are spending
freely to help households. Higher interest rates
announced by central banks are supposed to
help produce modest fiscal austerity, because
to maintain stable debts while paying more
to borrow, governments must cut spending
or raise taxes. Without the fiscal backup,
monetary policy eventually loses traction.
Higher interest rates become inflationary, not
disinflationary, because they simply lead
governments to borrow more to pay rising
debt-service costs. The risk of monetary
unmooring is greater when public debt rises,
because interest rates become more important
to budget deficits.

3. Which of the following statements best
reflects/reflect the most logical and
rational inference/inferences that can
be made from the passage?

1. Central banks cannot bring
down inflation without budgetary
backing.

2. The effects of monetary policy

depend on the fiscal policies
pursued by the government.

Select the correct answer using the
code given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

KSPC-B-GSPT/61A

4. Based on the above passage, the

following assumptions have been made :

1. Fiscal policies of governments are
solely responsible for higher prices.

2. Higher prices do not affect the
long-term government bonds.

Which of the assumptions given above
is/are valid?

() 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

5. What is the least possible number of

cuts required to cut a cube into 64
identical pieces?

(@) 8
(b) 9
(€).12

d) 16

6. In the expression 5 * 4 * 3 * 2 % ],

* is chosen from +, —, X each at most
two times. What is the smallest non-
negative value of the expression?

(@ 3
(b) 2
¢ 1

(@ ©

[ P.T.O.
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/
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(@ 6% 15 fime
(b) 6 %2 30 fime
(c) 62 45 fime

(d) 7
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9. URHA 12 x2% x 3% x48 x ... x25%0 ¥ yw

qUTieh % 3 § foem a3 &7

(@ 50

(b) 55

(c) 100

(d) 200
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# 2 Hall, 2023 F I qEadi fq f
gon ® €2 fi e w=a fitl 3 sEaEd,
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fore ariiE % 3fd A I8t Fot a9 T T
T F qY-w T QO o off ofi?

(@) 7 SHal, 2023
(b) 8 SHall, 2023
(c) 9 SHadl, 2023

(d) & Gy e



7. A certain number of men can complete

a piece of work in 6k days, where k is
a natural number. By what percent
should the number of men be increased
so that the work can be completed in
Sk days?

(@ 10%

(b) (50/3)%

(c) 20%

(d) 25%

8. X, Y and Z can complete a piece of work

individually in 6 hours, 8 hours and
8 hours respectively. However, only one
person at a time can work in each hour
and nobody can work for two
consecutive hours. All are engaged to
finish the work. What is the minimum
amount of time that they will take to
finish the work?

(a) 6 hours 15 minutes

(b) 6 hours 30 minutes

(c) 6 hours 45 minutes

(d) 7 hours
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9. How many consecutive zeros are there

at the end of the integer obtained in the
product 12 x2% x 3% x48 x...x25%0?

(a) 50
(b) 55
(c) 100

(d) 200

10. On January lst, 2023, a person saved

¥ 1. On January 2nd, 2023, he saved
¥ 2 more than that on the previous day.
On January 3rd, 2023, he saved
¥ 2 more than that on the previous day
and so on. At the end of which date
was his total savings a perfect square
as well a perfect cube?

(a) 7th January, 2023

(b) 8th January, 2023

(c) 9th January, 2023

(d) Not possible

[ P.T.O.
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

Today, if we consider cities such as New York,
London and Paris as some of the most iconic
cities in the world, it is because plans carrying
a heavy systems approach were imposed
on their precincts. The backbone of the
systems theory is the process of translating
social, spatial and cultural desirables into
mathematical models wusing computing,
statistics, optimization and an algorithmic way
of formulating and solving problems. The early
universities of the West which began to train
professionals in planning, spawned some of
the most ingenious planners, who were experts
in these domains. This was because these very
subjects were absorbed into the planning
curriculum that had its roots in the social
sciences, geography and architecture. Planning
in India, and its education differ from the West.

11. Which one of the following statements
best reflects the most logical and
rational inference that can be made
from the above passage?

(a) Curriculum for urban planning
courses should have diverse and
interdisciplinary approach.

(b) In India, city administration is
under bureaucracy which lacks
formal training in urban planning
and management.

KSPC-B-GSPT/61A

(c) In India, the management of urban
areas is a local affair with a chronic
problem of insufficient funds. _

(d) With high density of population
and widespread poverty in our
urban areas, planned development
in them is very difficult.

12. Based on the above passage, the
following assumptions have been made :

1. India needs a new generation
of urban professionals with
knowledge relevant to modern
urban practice.

2. Indian universities at present have
no capacity or potential to impart
training in systems approach.

Which of the assumptions given above
is/are correct?

() 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Passage—2

Not every voice on the internet commands
the same kind of audience. When anonymous
private entities with high capital can pay for
more space for their opinions, they are
effectively buying a louder voice. If political
discourse in the digital sphere is a matter of
outshining one’s opponent till the election is
won, then the quality of politics suffers. The
focus of social media is restricted to the

[ P.T.O.
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promotion of content that generates more user
engagement, regardless of how inflammatory
the content may be.

13. Which one of the following statements
best reflects the central idea of the
above passage?

(a) Constructed as a marketplace of
views, social media ensures instant
access to information.

(b) Social media are not ideal or moral
institutions but the products built
by companies to make profits.

(c) Social media have been created to
strengthen democracies.

(d) In today’s world, social media are
inevitable for well-informed social
life.

14. Based on the above passage, the
following assumptions have been made :

1. Internet is not inclusive enough.

2. Internet can adversely affect the
quality of politics in a country.

Which of the assumptions given above
is/are valid?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

15. 222333 4333222 5 divisible by which of
the following numbers?

(@) 2 and 3 but not 37
(b) 3 and 37 but not 2
(c) 2 and 37 but not 3
(d) 2, 3 and 37
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16. What percent of water must be mixed
with honey so as to gain 20% by selling
the mixture at the cost price of honey?
(a) 20% (b) 10%

(c) 5% d 4%

17. What is the rightmost digit preceding
the zeros in the value of 30307
(@ 1 (b) 3
(¢ 7 @ 9

18. 421 and 427, when divided by the same
number, leave the same remainder 1.
How many numbers can be used as
the divisor in order to get the same
remainder 1?
(@ 1
(¢ 3

(b) 2
(@ 4

19. A can X contains 399 litres of petrol and a
can Y contains 532 litres of diesel. They
are to be bottled in bottles of equal size
so that whole of petrol and diesel would
be separately bottled. The bottle
capacity in terms of litres is an integer.
How many different bottle sizes are

possible?
(@ 3 (b) 4
(c) S (d 6

20. Consider the following statements in
respect of the sum S= x+ y+2z, where
x, y and z are distinct prime numbers
each less than 10 :

1. The unit digit of S can be 0.

2. The unit digit of S can be 9.

3. The unit digit of S can be 5.
Which of the statements given above
are correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d 1,2 and 3

[ P.T.O.
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

By the time children reach class 8, the bulk of
them tend to be in the age range of 13 years to
15 years. But in our country, about a quarter of
all children in class 8 struggle with reading
simple texts and more than half are still unable
to do basic arithmetic operations like division.
Every year about 25 million young boys and
girls from elementary school move into the life
that lies for them beyond compulsory schooling.
They cannot enter the workforce at least in
the organized sector till they are 18. For many
families, these children are the first from their
families ever to get this far in school. Parents
and children expect that such ‘graduates’ from
school will go on to high school and college.
Hardly anyone wants to go back to agriculture.
On the other hand, abilities in terms of
academic competencies are far lower than
they should be even based on -curricular
expectations of class 8.

21. Based on the above passage, the
following assumptions have been made :

1. For effective school education,
parents have greater role than the
governments.

2. School curriculum that conforms
to today’s requirements and is
uniform for the entire country may
address the issues brought out.
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Which of the assumptions given above
is/are valid?

(@)
(b)
(c)
@)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

22. Which one of the following statements
best reflects the central idea conveyed
by the passage?

(a) Total eradication of poverty in the
country will resolve the issue of
under-performance of our school-
children.

Monetary incentives to parents
and teachers is a strategy to
improve the children’s academic
performance.

(b)

(c) Public policy should ensure that
competencies and achievements of
young people are aligned with their
expectations.

(d) India is not going to take advantage
of the demographic dividend unless
some school pass-outs go back to

agriculture.

Passage—2

We take it for granted now that science has
a social responsibility. The idea would not
have occurred to Newton or Galileo. They
thought of science as an account of the world
as it is, and the only responsibility that they
acknowledged was to tell the truth. The idea
that science is a social enterprise is modern,
and it begins at the industrial revolution.
We are surprised that we cannot trace a social

[ P.T.O.
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sense further back, because we nurse the 26. P’s salary is 20% lower than Q’s salary

illusion that the industrial revolution ended which is 20% lower than R’s salary. By
a golden age. how much percent is R’s salary more
than P’s salary?
23. Which one of the following statements (@) 4875% (b) 56:25%

best reflects the thinking of the author (€ 60-50% (d) 62:25%

about the science?

(a) Science must value the
commitment of the scientists.

(b) Science is a product of civilized
society and must be used for the
promotion of scientific awareness
in people.

(c) Industrial revolution was made
possible by the advancements in
science.

(d) Science must pursue truth but be
responsible for social welfare.

24. Consider the sequence

A _BCD _BBCDABC _DABC _D

that follows a certain pattern. Which
one of the following completes the
sequence?

(@ B, A; D, C
(b} BiA;C,’D
€ A RCID
(@A, A, D; C

25. Two persons P and Q enter into

a business. P puts ¥14,000 more
than Q, but P has invested for 8 months
and Q has invested for 10 months. If P’s
share is ¥400 more than Q’s share out
of the total profit of ¥2,000, what is
the capital contributed by P?

(a) ¥30,000

(b) ¥26,000

(c) ¥24,000

(d) ¥20,000

KSPC-B-GSPT/61A

15

27. A number is mistakenly divided by 4
instead of multiplying by 4. What is
the percentage change in the result
due to this mistake?

(@) 25% (b) 50%
(¢ 72:75% (d) 93:75%

28. In an examination, 80% of students
passed in English, 70% of students
passed in Hindi and 15% failed in both

the subjects. What is the percentage of
students who failed in only one subject?

(@) 15% (b) 20%
(c) 25% (d) 35%

29. A father said to his son, “n years back
I was as old as you are now. My present
age is four times your age n years back”.
If the sum of the present ages of the

father and the son is 130 years, what
is the difference of their ages?

(a) 30 years
(b) 32 years
(c) 34 years
(d) 36 years
30. Consider the following :
1. 1000 litres = 1m3
2. 1 metric ton = 1000 kg
3. 1 hectare = 10000 m?
Which of the above are correct?
(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

[P.T.O.
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

“The history of science is the real history of
mankind.” In this striking epigram, a
nineteenth-century writer links science with its
background. Like most epigrams, its power lies
in emphasizing by contrast an aspect of truth
which may be easily overlooked. In this case,
it is easy to overlook the relations between
science and mankind, and to treat the former
as some abstract third party, which can
sometimes be praised for its beneficial
influences, but frequently and conveniently
blamed for the horrors of war. Science and
mankind cannot be divorced from time to time
at men’s convenience. Yet we have seen
that, in spite of countless opportunities of
improvement, the opening years of the present
period of civilization have been dominated by
international conflict. Is this the inevitable
result of the progress of science or does the
fault lie elsewhere?

31. Which of the following is/are
emphatically conveyed by the author of
the passage?

1. Without science, mankind could
not have continued to exist till
today.

2. It is the science that will ultimately
determine the destiny of mankind.

Select the correct answer using the

code given below.

(a) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2
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32. Based on the above passage, the
following assumptions have been made :

1. The horrors of modern life are
the inevitable result of the progress
of science.

2. The aspect of truth likely to be
overlooked is that science is what
man has made it.

Which of the assumptions given above
is/are correct?

(@) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

Passage—2

Only with long experience and opening of
his wares on many a beach where his language
is not spoken, will the merchant come to know
the worth of what he carries, and what is
parochial and what is universal in his choice.
Such delicate goods as justice, love and honour,
courtesy, and indeed all the things we care for,
are valid everywhere but they are variously
moulded and often differently handled, and
sometimes nearly unrecognizable if you meet
them in a foreign land, and the art of learning
fundamental common values is perhaps the
greatest gain of travel to those who wish to
live at ease among their fellows.

33. When we meet other people while we
travel, we learn to differentiate between
(a) imagination and understanding
(b) communities and nationalities
(c)

(d) friends and foes

local values and universal values

[ P.T.O.
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(d) 2033
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fafra (3zer) % s 0 21 AR (X + ) T p, g fowm & iR 7, s 7w §) AfrRaa
wETH -3 wET 2, A X F G wEl iy Fo W e Hifr
T 1 27 1. (p-n2(gs) @4 I
(@) 2 2. (@-9¢%sTHRI
(b) 4 3. (g+n%(p+s w2
i e ol 8 -2 7 &7
d) 8
” (@) ¥ 1 3R 2
36. fr=fafa w fa=r Hif . (b)) Fad 2 3R 3
6 STeTh! 1 T = 7 SRR H1 T (c) Faa 1 3R 3
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(b) 42 kg b 15°
(C) 45 kg (C) 17,50
(d) 63 kg ‘ (d) 20°
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34. With reference to the above passage, the 37. How many times the hour hand and the
following assumptions have been made : minute hand coincide in a clock between

1. Travel leads to an understanding 10:00 a.m. and 2:00 p.m. (same day)?

of humans. (a) 3 times

2. Travel helps those who wish to (b) 4 times

learn fundamental common values. :
(c) S times
3. A person with long experience

in travel can resolve differences (d) 6 times

amongst people.
38. The calendar for the year 2025 is same for
Which of the assumptions given above

are valid? (@) 2029
(@ 1 and 2 only (b) 2030
(b) 2 and 3 only (c) 2031
(c) 1 and 3 only (d) 2033

(d) 1,2 and 3 39. Let p, g r and s be distinct positive

35. Let X be a two-digit number and Y be integc?rs. Let p, g be ?dd andr, s be e.ven.
another two-digit number formed by Consider the following statements :
interchanging the digits of X. If (X+Y) 1. (A= r)2(qs) is even.
is the greatest two-digit number, et
then what is the number of possible 2..: (= s)g"sis cven.
valer et 2 3. (g+r)?(p+s) is odd.

(a) 2
Which of the statements given above
(b) 4
are correct?
(c) 6
(@ 1 and 2 only
(@ 8

() 2 and 3 only

(¢ 1 and 3 only
Weight of 6 boys = Weight of 7 girls (d 1,2 and 3
= Weight of 3 men = Weight of 4 women :

36. Consider the following :

If the average weight of the women is 40. What is the angle between the minute
63 kg, then what is the average weight hand and hour hand when the clock
of the boys? shows 4:25 hours?

(@) 40 kg (@) 12-5°

(b) 42 kg (b) 15°

(c) 45 kg () 17:5°

(d) 63 kg (d) 20°
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Directions for the following 4 (four) items :

Read the following two passages and answer
Your
answers to these items should be based on

the items that follow the passages.

the passages only.

Passage—1

Conventional classrooms, by emphasizing fixed
duration over learning effectiveness, resign
themselves to variable outcomes. The tyranny
of the classroom is that every learner is
subjected to the same set of lectures in the
same way for the same duration. In the end,
a few learners shine, some survive, and the
rest are left behind. After the fixed duration,
the classroom model moves on, with not a
thought spared for those left behind. This is
how we end up with 10 percent employability
in our graduates after a decade and half
of formal education. Repeating the same
ineffectual script in the realm of skill education
will not produce different results.

41. Which of the following statements best
reflects/reflect the most logical and
rational inference/inferences that can
be made from the passage?

1. In conventional classroom learning,
the central goal
learning rather than attainment of

is duration of

competency.

2. Conventional classrooms encourage

one-size-fits-all approach and

stamp out all differentiation.
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Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

42. Based on the above passage, the
following assumptions have been made :

1. As a large number of workers in
our country are employed in
unorganized sector, India does not

need to change its present
conventional classroom system of
education.

2. Even with its present conventional
classroom system of education,
India produces sufficient number of
skilled workers to fully realize the
benefits of demographic dividend.

Which of the assumptions given above
is/are valid?

(@)
(b)
(c)
(@)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Passage—2

When a child reaches adolescence, there is apt
to be a conflict between the parents and the
child, since the latter considers himself to be
by now quite capable of managing his own
affairs, while the former are filled with parental
solicitude, which is often a disguise for love
of power. Parents consider, usually, that the
various moral problems which arise
adolescence are peculiarly their province.
The options they express, however, are so

in
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dogmatic that the young seldom confide in
them, and usually go their own way in secret.

43. Based on the above passage, the following

assumptions have been made :

1. The adolescent does not feel
comfortable with his parents
because they tend to be dominating
and assertive.

2. The adolescent of modern times
does not have much respect for
parents.

Which of the assumptions given above

is/are valid?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

44. V) hich one of the following statements

best reflects the central idea of the above

passage?

(a) Parents in general may not be of
much help when children are on
their way to becoming adults.

(b) When children reach adolescence,
involvement of parents in their
lives is unnecessary.

(c) Modern-day nuclear families are
not capable of bringing up children
properly.

(d) In modern societies, adolescents
tend to be stubborn, disobedient
and careless.

45. What is the number of fives used in

numbering a 260-page book?
(a) 55 (b) 56
(e) = 57 (d) 60

46. What is the sum of the first 28 terms

in the following sequence?
11,21,3214,3215432--

(@) 83 (b) 84

(c) 85 (d) 86
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47. A person buys three articles P, Q and R

for ¥ 3,330. If P costs 25% more than R
and R costs 20% more than Q, then what
is the cost of P?

(@) ¥1,000 (b) ¥1,200

(©):: ¥ 1250 (d): ¥1,350

48. If the sum of the two-digit numbers AB

and CD is the three-digit number 1CE,
where the letters A, B, C, D, E denote
distinct digits, then what is the value
of A?

(@ 9

(b) 8

¢ 7

(d) Cannot be determined due to
insufficient data

49, Three numbers x, y, z are selected from

the set of the first seven natural numbers
such that x >2y> 3z. How many such
distinct triplets (x, y, z) are possible?
(a) One triplet

(b) Two triplets

(c) Three triplets

(d) Four triplets

50. The total cost of 4 oranges, 6 mangoes

and 8 apples is equal to twice the total
cost of 1 orange, 2 mangoes and 5 apples.
Consider the following statements :

1. “The §ltoftal’. ‘cost "‘of '3 ~oranges
5 mangoes and 9 apples is equal
to the total cost of 4 oranges,
6 mangoes and 8 apples.

2. The total cost of one orange and one
mango is equal to the cost of one
apple.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

[P.T.O.
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Directions for the following 3 (three) items :

Read the following three passages and answer
the
answers to these items should be based on

items that follow the passages. Your

the passages only.

Passage—1
When an international team of scientists
pumped a carbon dioxide and water mix into
underground basalt rocks, basic chemistry took
over.
calcium and magnesium and formed limestone.
Basically carbon dioxide is converted into
stone, exclaimed the scientists.

51. Which one of the following statements
best reflects the most logical, rational
and practical suggestion implied by the
passage?

(a) It is a cheap and practical method
to produce limestone at commercial
level for building purposes.

This can be used as one of the

(b)

methods of carbon sequestration.

(c) Basalt rock can be made a good
source of calcium and magnesium

minerals by this method.

(d) Good rock-dissolving acid can be
produced by mixing carbon dioxide

and water.
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Passage—2

Geographers analyzed 175 satellite images
of ocean colour, which is an indicator of
phytoplankton productivity at the ocean’s
surface, and found that giant icebergs are
responsible for storing up to 20 percent of
carbon in the Southern Ocean. The researchers
discovered that melting water from giant
icebergs which contains iron and other
nutrients, supports hitherto unexpectedly high
levels of phytoplankton growth.

the .
following assumptions have been made :

52. Based on the above passage,

1. Giant
on primary productivity and food

icebergs have a bearing

chains of the Southern Ocean.

2. Melting of giant
produce climate change effects and

icebergs can

impact world fisheries.

Which of the assumptions given above
is/are valid?

(@) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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Passage—3

Evolution has endowed caterpillars that feed
on corn with a unique ability, they can induce
the plant to turn off its defence against insect
predators. This helps caterpillars to eat more
and grow faster. The agent that causes this
effect is the caterpillar’s faeces or frass. The find
could throw new light on compounds associated
with plant response to pathogens like fungi
or bacteria.

53. Which one of the following statements
best reflects the most logical, rational
and practical message conveyed by the
passage?

(a) Farmers can use caterpillars to
feed on weeds in their crop fields/
plantations.

(b) This finding can help in the
development of clinically useful
antimicrobial compounds.

(c) This finding can help in the
development of organic, ecologically
sustainable pesticides.

(d) Caterpillars can be genetically
modified to be predators of the
other plant pests.

54. 325 +227 js divisible by

(@) 3 (b) 7
© 10 d 11

55. Let p and g be positive integers satisfying
p <qgand p+q= k. What is the smallest
value of k that does not determine
p and q uniquely?

(@ 3 (b) 4
¢ S (d) 6
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56. A person walks 100 m straight from his

house, turns left and walks 100 m,
again turns left and walks 300 m, then
turns right and walks 100 m to reach
his office. In which direction does he
walk initially from his house if his office
is exactly in the North-East direction?
(@) North-West

(b) West

(c) South

(d) South-West

57. A person walks 100 m Westward, then

turns left and walks 100 m. He then
takes 225° turn clockwise. In which
direction is he walking now?

(a) South-West
(b) South-East
(c) North-West
(d) North-East

A Statement is given followed by
two Conclusions numbered I and II
Consider the Statement and the
Conclusions.

Statement :

India is the world’s largest
producer of milk.

Conclusion-I :

India is the world’s largest exporter
of milk.

Conclusion-II :

India does not import milk.
Which one of the following is correct?
(a) Only Conclusion-I follows
(b) Only Conclusion-II follows

(c) Both Conclusion-I and Conclusion-II
follow

(d) Neither Conclusion-I nor
Conclusion-II follows

[ P.T.O.
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59. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

Question :

What are the values of m and n,
where m and n are natural
numbers?

Statement-I :

m+n>mnand m>n.

Statement-II :

The product of m and n is 24.

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered

using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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60. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

What is the time required to
download the software?

Statement-I :

The size of the
12 megabytes.

software is

Statement-II :

The transfer rate is 24 kilobytes
per second.

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢) The Question can be answered by
both the  Statements
together, but cannot be answered

using
using either Statement alone
(d) The Question cannot be answered

even by using both the Statements
together

[ P.T.O.
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Directions for the following 3 (three) items :

Read the following three passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

In a robust democracy, reality, howsoever
inconvenient it may be, finds its expression
both in the speech of political leaders and the
other social forms of assertion. The existence
of the real has to be transparent, both through
its circulation in and by the media as well as
its argumentative articulation in deliberative
democracy. A normatively responsible media
through its communication effect has the
responsibility to circulate the content of reality
without distortion.

61. Which one of the following statements
best reflects the crux of the above

passage?

(a) Responsible media should not
distort the real in an ideal
democracy.

(b) Fake news seems inherent in the
life of an ideal democracy.

(c) There should not be any kind
of restrictions on the freedom of
expression in an ideal democracy.

(d) Irresponsible media and political

leaders cannot be effectively
controlled in an ideal democracy.

Passage—2

Now-a-days there is a growing trend to use
interconnected home devices. As consumers
increasingly network their homes, ' the
connected home device manufacturers and
service providers will seek to overcome “thin
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profit margins by gathering more of our
personal data—with or without our agreement—
turning the home into a corporate storefront”.
Corporate marketers will have powerful
incentives to observe consumer behaviour to
understand the buying needs and preferences
of the device owners.

62. Which one of the following statements
best reflects the most logical, rational
and practical message implied by the
‘passage?

(a) Knowledge of consumer behaviour
leads to more capital expenditure
in manufacturing sector.

(b) Knowledge of consumer behaviour

stimulates the growth of commerce

and trade and thus helps in the
overall economic development of

the country.

Interconnected devices give a lot of
comfort to home users and improve
the overall quality of life.

Interconnected devices can be at
security risk and home users may
have privacy risk.

(c)

(@)

Passage—3

Green growth involves rethinking growth
strategies with regard to the impacts on
environmental sustainability and the
environmental resources available to poor
and vulnerable groups. In rethinking growth,
we need to focus on the current reality of
a resource-constrained world. Resource
intensive and, in particular energy intensive
processes will need to make way for more
efficient and resource frugal development
strategies if we are to avoid an economic dead

[ P.T.O.
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end or a world in which only a small elite is
able to enjoy affluence in the midst of a sea

of poverty.

63. Which one of the following statements
best reflects the crux of the above
passage?

(a) Environmental sustainability is
inimical to our objective of
achieving a high rate of GDP
growth.

(b) Poverty eradication is not possible
without a rapid economic growth
and the consequent environmental
degradation.

(c) Maintaining high environmental
standards is now a prerequisite for
achieving a steady, sufficient and
inclusive growth.

(d) With large populations, rampant
poverty and limited resources
of today’s world, environmental
degradation cannot be prevented
and inequalities are inevitable.

64. A Question is given followed by two
Statements I and II. Consider the
Question and the Statements.
Question :

What are the unique values of
x and y, where x, y are distinct
natural numbers?

Statement-I : x /y is odd.
Statement-II : xy=12

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone
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(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

65. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

A certain amount was distributed
among X, Y and Z.

Question :

Who received the least amount?

Statement-I :

X received 4/5 of what Y and Z
together received.

Statement-II :

Y received 2/7 of what X and Z
together received.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

[P.T.O.
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66. A Question is given followed by two
Statements I and II. Consider the
Question and the Statements.
Question :

If the average marks in a class

are 60, then what is the number

of students in the class?
Statement-I :

The highest marks in the class are
70 and the lowest marks are 50.

Statement-II :

Exclusion of highest and lowest
marks from the class does not
change the average.
Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

67. A Question is given followed by two
Statements I and II. Consider the
Question and the Statements.

There are three distinct prime numbers
whose sum is a prime number.

Question :

What are those three numbers?
Statement-I : Their sum is less than 23.
Statement-II : One of the numbers is 5.
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Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

68. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question : Is (x + y) an integer?
Statement-I : (2x + y) is an integer.
Statement-II : (x +2y) is an integer.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the  Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

[ P.T.O.
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69. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

A person buys three articles p, g and r
for ¥50. The price of the article gis ¥ 16
which is the least.

Question :

What is the price of the article p ?

Statement-I :

The cost of p is not more than
that of r.

Statement-II :

The cost of r is not more than
that of p.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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70. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

P, Q, R and S appeared in a test.

Question :

Has P scored more marks than Q?

Statement-I :

The sum of the marks scored by
P and Q is equal to the sum of the
marks scored by R and S.

Statement-II :

The sum of the marks scored by
P and S is more than the sum of
the marks scored by Q and R.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
Statements
together, but cannot be answered

using both the
using either Statement alone
(d) The Question cannot be answered

even by using both the Statements
together

[P.T.O.
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Directions for the following 2 (two) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

Unlike religion and science, poetry does not
posit or expect any belief in absolute truths.
Those forces or individuals who claim to have
absolute truths in their grasp tend to turn
dictatorial and tyrannical. Truth usually does
not admit any contradictions or imperfections.
It is unitarian. It is, therefore, not of much use
for poetry. Poetry abides by the plurality of
life and existence. Perhaps poetry follows
reality which is plural, anachronistic, full of
contradictions. Against the tyranny of truth,
poetry remains a partisan of democratic reality.
Against the arrogance of power, wealth and
hierarchy, poetry proposes both humility and
defiance.

71. Which one of the following statements
best reflects the most logical and
rational message conveyed by the above
passage?

(@) It is the poetry, not science or
religion, which recognizes and

accepts imperfections in humans.

(b) Truth is revealed through science
or religion and poetry is anathema

to truth.
(c)

Poetry is romantic, imaginary and
is about feeling whereas science

and religion are about truth.

(d) In a world of violence, tyranny and
bigotry, poetry is a form of dynamic

resistance.
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Passage—2

The flower was not invented to please us. It
flaunted its petals and spread its perfume to
attract an insect. The insect carries the pollen
from flower to flower so that pollen is not
carried away by wind and thus not wasted.
What we call a flower’s beauty is merely
a by-product and a human invention. The
perfume is not there to please us, it pleases
us because it is there and we have been
conditioned to it.

the
following assumptions have been made :

72. Based on the above passage,

1. The author of the passage believes
that of
Nature’s luxury.

flowers are creations

2. The author of the passage does not
believe in the usefulness of flowers
except as things of beauty.

Which of the assumptions given above
is/are valid?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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73. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Age of each of P and Q is less than
100 years but more than 10 years.
If you interchange the digits of the
age of P, the number represents the
age of Q.

Question :

What is the difference of their ages?

Statement-I :

The age of P is greater than the
age of Q.

Statement-II :

The sum of their ages is 11/6 times
their difference.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered

using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together
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74. A Main Statement is followed by four

Statements labelled P, Q, R and S
Choose the
Statements where the first Statement
implies the second, and the two
Statements are logically consistent with
the Main Statement.

ordered pair of the

Main Statement :

Pradeep becomes either a Director
or a Producer.

Statement P : Pradeep is a Director.
Statement Q : Pradeep is a Producer.
Statement R : Pradeep is not a Director.
Statement S : Pradeep is not a Producer.
Select the correct answer.

(a) SP only

(b) RQ only

(c) Both SP and RQ

(d) Neither SP nor RQ

If a+b means a-b; a-b means
axb;, axb means a+b; a+b means
a+b, then what is the value of
10+30-100x 50+25? (Operations are
to be replaced simultaneously)

(@ 15
(b) O
(¢ -15
(d) 25

[ P.T.O.
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(@ 11880
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78. it & fifda e #, ‘POT’ # ATOP ¥ ®9 #

for@n siman ® 991 ‘TRAP’ & APART % &9 §
o s 8, @ 3@ Fe d ‘ARENA’ 1 32
foran ran 27

(a) AARENA
() AANREA
(c) AANEAR

(d) AANERA

79. ¥gFF 3, 14, 39, 84, *, 258 H * &% WM W

1 FTem?
(@) 150
(b) 155
(c) 160

d) 176

80. frdt #Ie #, W P, Q, R, S, T UE&A 4, 5,

10, 12, 15 % &l wd §1 98 3 76 &
fF FR-w 3R FR-T gEn w1 el wta
2 9’ Q-S=25 IR T=R+S+3 &, @
P+R-T &I A #4187

(@ 1
(b) 2
(c) 3

(d) 9aim et % Hro fuifa 7
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76. If P means ‘greater than (>); Q means 78. If in a certain code, ‘POT’ is written as

less than (<)’; R means ‘ot greater ATOP and ‘TRAP’ is written as APART,
than (#)’; Smeans ‘not less than (¢)’ and then how is ‘ARENA’ written in that
T means ‘equal to (=), then consider code?
the following statements :
() AARENA
1. If 2x(S)3y and 3x(T)4z, then
9y(P) 8z. (b) AANREA
2. If x(Q)2y and y(R)z, then x(R)z. () AANEAR
(d) AANERA

Which of the statements given above
is/are correct?

79. What will come in place of * in the
sequence 3, 14, 39, 84, *, 2587

(@) 1 only

(@) 150
(b) 2 only

(b) 155
(c) Both 1 and 2 (c) 160

(d 176

(d) Neither 1 nor 2

80. In some code, letters P, Q, R, S, T

represent numbers 4, 5, 10, 12, 15.
77. If in a certain code, ‘ABCD’ is written as

24 and ‘EFGH’ is written as 1680, then
how is TJKL’ written in that code?

It is not known which letter represents
which number. If Q-S=2S and
T =R+S+ 3, then what is the value of

P+R-T?
(@) 11880
(@ 1
(b) 11240 (b) 2
(c) 7920 (c) 3
(d) Cannot be determined due to
(d) 5940 insufficient data
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item comprises four responses (answers). You will select the response which you want to mark on the
Answer Sheet. In case you feel that there is more than one correct response, mark the response which
you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in
the Answer Sheet.
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on

the passages only.

Passage—1

“The history of science is the real history of
mankind.” In this striking epigram, a
nineteenth-century writer links science with its
background. Like most epigrams, its power lies
in emphasizing by contrast an aspect of truth
which may be easily overlooked. In this case,
it is easy to overlook the relations between
science and mankind, and to treat the former
as some abstract third party, which can
sometimes be praised for its beneficial
influences, but frequently and conveniently
blamed for the horrors of war. Science and
mankind cannot be divorced from time to time
at men’s convenience. Yet we have seen
that, in spite of countless opportunities of
improvement, the opening years of the present
period of civilization have been dominated by
international conflict. Is this the inevitable
result of the progress of science or does the
fault lie elsewhere?

L Which of the following is/are
emphatically conveyed by the author of
the passage?

1. Without science, mankind could
not have continued to exist till
today.

2. It is the science that will ultimately
determine the destiny of mankind.

Select the correct answer using the
code given below. :

(@ 1 only

(b) 2 only

¢ Both 1 and 2* -

(d) Neither 1 nor 2

KSPC_B-GSPT/61B

2. Based on the above passage, the
following assumptions have been made :
1. The horrors of modern  life are
the inevitable result of the progress

of science.

2. .The aspect of truth likely to be

overlooked is that science is what
man has made it.

Which of the assumptions given above
is/are correct?

(@) 1 only-

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Passage—2

Only with long experience and opening of
his wares on many a beach where his language
is not spoken, will the merchant come to know
the worth of what he carries, and what is
parochial and what is universal in his choice.
Such delicate goods as justice, love and honour,
courtesy, and indeed all the things we care for,
are valid everywhere but they are variously
moulded and often differently handled, and
sometimes nearly unrecognizable if you meet
them in a foreign land, and the art of learning
fundamental common values is perhaps the
greatest gain of travel to those who wish to

live at ease among their fellows.

3. When we meet other people while we
travel, we learn to differentiate between

(@) imagination and understanding
(b) communities and nationalities

(c) local values and universal values -

(d) friends and foes

[ P.T.O.
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4. With reference to the above passage, the

following assumptions have been made :

1. Travel leads to an understanding
of humans.

2. Travel helps those who wish to
learn fundamental common values.

3. A person with long experience
in travel can resolve differences
amongst people.

Which of the assumptions given above
are valid?

(@ 1 and 2 only
(b) 2 and 3 only
(¢ 1and 3 only
{d 1,2 and 3 -

S. Let X be a two-digit number and Y be

another two-digit number formed by
Interchanging the digits of X. If (X +Y)

is the greatest two-digit number,

then what is the number of possible
values of X ?

(@ 2
(b) 4
) 6
(d) 8

6. Consider the following :

Weight of 6 boys = Weight of 7 girls
= Weight of 3 men = Weight of 4 women

If the average weight of the women is

63 kg, then what is the average weight
of the boys?

(@ 40 kg
(b) 42 xg
(¢) 45 kg
(@ 63 kg,

KSPeB_gspr/61B
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7. How many times the hour hand and the

minute hand coincide in a clock between
10:00 a.m. and 2:00 p.m. (same day)?

(a) 3 times
(b) 4 tirries .
(c) S times
(d) 6 times

8. The calendar for the year 2025 is'same for

(@ 2029
(b) 2030
(c) 2031
(d) 2033

9. Let p, q r and s be distinct positive

integers. Let p, gbe odd and r, s be even.
Consider the following statements :

1. (p- r)2(qs) is even.
2. (- s)g3s is even.
3. (q+r)%(p+s9) is odd.

Which of the statements given above
are correct?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only-
(d 1,2 and 3

10. foat is the angle between the minute

hand and hour hand when the clock
shows 4:25 hours?

(@) 12:5°
(b) 15°

(c) 175°.
(d@ 20°

[P.T.0.




Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

By the time children reach class 8, the bulk of
them tend to be in the age range of 13 years to
15 years. But in our country, about a quarter of
all children in class 8 struggle with reading
simple texts and more than half are still unable
to do basic arithmetic operations like division.
Every year about 25 million young boys and
girls from elementary school move into the life
that lies for them beyond compulsory schooling.
They cannot enter the workforce at least in
the organized sector till they are 18. For many
families, these children are the first from their
families ever to get this far in school. Parents
and children expect that such ‘graduates’ from
school will go on to high school and college.
Hardly anyone wants to go back to agriculture.
On the other hand, abilities in terms of
academic competencies are far lower than
they should be even based on curricular
Xpectations of class 8.

11. Based on the above passage, the
following assumptions have been made :

1. For effective school education,
parents have greater role than the
governments.

2. School curriculum that conforms
to today’s requirements and is
uniform for the entire country may
address the issues brought out.

KSPC-B_GsPT/61B

B

Which of the assumptions given above
is/are valid?

(@) 1 only

(b) 2 only .

(c) Both 1 and 2

(d) Neither 1 nor 2

12. Which one of the following statements
best reflects the central idea conveyed
by the passage?

(a) Total eradication of poverty in the
country will resolve the issue of
under-performance of our school-
children.

(b) Monetary incentives to parents
and teachers is a strategy to
improve the children’s academic
performance.

(c) Public policy should ensure that

*  competencies and achievements of
young people are aligned with their
expectations.

(d) India is not going to take advantage
of the demographic dividend unless
some school pass-outs go back to
agriculture.

Passage—2

We take it for granted now that science has
a social responsibility. The idea would not
have occurred to Newton or Galileo. They
thought of science as an account of the world
as it is, and the only responsibility that they
acknowledged was to tell the truth. The idea
that science is a social enterprise is modern,
and it begins at the industrial revolution.
We are surprised that we cannot trace a social

[ P.T.O.
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«nse further back, because we nurse the
jlusion that the industrial revolution ended

a golden age.

13. Which one of the following statements
best reflects the thinking of the author
about the science?

(a) Science must value the

- commitment of the scientists.

(b) Science is a product of civilized

- society and must be used for the
promotion of scientific awareness
in people.

(c) Industrial revolution was made
possible by the advancements in
science.

(d) Science must pursue truth but be
responsible for social welfare.

14, Consider the sequence
A _BCD _BBCDABC _DABC_D

that follows a certain pattern. Which
one of the following completes the
sequence? :

(@ B, A D, C
(b) B, A, C,D
¢ A A C,D,
(d A A D,C

15. Two persons P and Q enter into
a business. P puts ¥14,000 more
than Q, but P has invested for 8 months
and Q has invested for 10 months. If P’s
share is 400 more than Q’s share out

of the total profit of ¥2,000, what is
the capital contributed by P?

(a) €30,000
(b) £26,000
(c) 24,000
(@ 20,000

KSPC-B GsPr/61B
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16. P’s salary is 20% lower than Qs salary
which is 20% lower than R’s salary. By
how much percent is R’s salary more
than P’s salary?

(@) 4875% (b) 56-25%
(c) 60-50% (d) 62-25%

17. A number is mistakenly divided by 4
instead of multiplying by 4. What is

the percentage change in the result
due to this mistake?

(@ 25% (b) 50%
(c) 72:75% (d) 9375%

18. In an examination, 80% of students
passed in English, 70% of students
passed in Hindi and 15% failed in both

the subjects. What is the percentage of
students who failed in only one subject?

(@) 15% (b) 20%
(c) 25% (d) 35%

19. A father said to his son, “n years back
I was as old as you are now. My present
age is four times your age n years back”.
If the sum of the present ages of the

father and the son is 130 years, what
is the difference of their ages?

(a) 30 years
(b) 32 years
(c) 34 years
(d) 36 years
20. Consider the following :
1. 1000 litres = 1m?>

2. 1 metric ton = 1000 kg
3. 1 hectare = 10000 m?

Which of the above are correct?
(@ 1 and 2 only

(b) 2 and 3 only-

(c) 1 and 3 only

(d 1,2 and 3

[P.T.0.
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pirections for the following 4 (four) items : (¢c) In India, the management of urban
areas is a local affair with a chronic

Read the following two passages and answer
problem of insufficient funds.

e items that follow the passages. Your
answers to these items should be based on (d) With high density of population
the passages only. and widespread poverty in our

urban areas, planned development

Passage—1 in them is very difficult.

Today, if we consider cities such as New York,

london and Paris as some of the most iconic 22. Based on the above passage, the
ities in the world, it is because plans carrying following assumptions have been made :
a heavy systems approach were imposed 1. India needs a new generation
on their precincts. The backbone of the of urban professionals with
systems theory is the process of translating knowledge relevant to modern
social, spatial and cultural desirables into urban practice.

mathematical —models using computing, 2. Indian universities at present have
statistics, optimization and an algorithmic way no capacity or potential to impart
of formulating and solving problems. The early training in systems approach.

universities of the West which began to train
professionals in planning, spawned some of
the most ingenious planners, who were experts

Which of the assumptions given above
is/are correct?

in these domains. This was because these very (@ 1.only.
Subjects were absorbed into the planning

Criculum that had its roots in the social (b) 2 only
%iences, geography and architecture. Planning | () Both 1 and 2

in India, and its education differ from the West.
(d) Neither 1 nor 2

2L Which one of the following statements
best reflects the most logical and
rational inference that can be made
from the above passage?

Passage—2

Not every voice on the internet commands
the same kind of audience. When anonymous

@ Curriculum for urban planning
i iti i igh ital can fi
courses should have diverse and private entities with high capital can pay lor

interdisciplinary approach. more space for their opinions, they are

effectively buying a louder voice. If political
discourse in the digital sphere is a matter of
outshining one’s opponent till the election is
won, then the quality of politics suffers. The
focus of social media is restricted to the

() In India, city administration is
under bureaucracy which lacks
formal training in urban planning
and management.

Ksp
C-B-GsP1/61B 11 [P.T.O.
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motion of content that generates more user 26. What percent of water must be mixed
agement, regardless of how inflammatory with honey so as to gain 20% by selling
o6 the mixture at the cost price of honey?
e content may be.
(@ 20% - (b) 10%
93. Which one of the following statements (c) 5% d 4%

best reflects the central idea of the

s 5 27. What is the rightmost digit preceding
above passag

the zeros in the value of 30307
fa) Constructed as a marketplace of (@ 1 (b) 3
views, social media ensures instant © 7 @ 9

access to information.

28 421 and 427, when divided by the same
number, leave the same remainder 1.
How many numbers can be used as
the divisor in order to get the same

(b) Social media are not ideal or moral
institutions but the products built
by companies to make profits.

) Social media have been created to remainder 1?
strengthen democracies. (@) 1 (b) 2
(d) In today’s world, social media are ¢ 3 (@ 4
' ipcvitable for well-informed social 29. A can X contains 399 litres of petrol and a
life. can Y contains 532 litres of diesel. They
) are to be bottled in bottles of equal size
4 Based on the above passage, the so that whole of petrol and diesel would
following assumptions have been made : be separately bottled. The bottle
1. Internet is not inclusive enough. capacity in terms of litres is an integer.
How many different bottle sizes are
2. Internet can adversely affect the possible?
quality of politics in a country. @ 3 b 4
Which of the assumptions given above (© S @ 6

is/are valid? : :
30. Consider the following statements in

(@ 1 only respect of the sum S=x+y+2z, where
() 2 only X, y and z are distinct prime numbers
o each less than 10 :
Both 1 and 2 - 1. The unit digit of S can be 0.
@ Neither 1 nor 2 2. The unit digit of S can be 9.
3, 229333 ) 3. The unit digit of S can be 5.

+333222 jg divisible by which of
the following numbers? Which of the statements given above

are correct?

@ 2 and 3 but not 37 (@ 1 and 2 only

b 3 and 37 but not 2 (b) 2 and 3 only
9 2 and 37 but not 3 (c) 1 and 3 only
(d) 2, 3 and 37 (d) l, 2 and 3
g,
B~(\‘SPI‘/513 13 [P.T.O.
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pisections for the following 4 (four) items :

gead the following two passages and answer
s tems that follow the passages. Your
gewers to these items should be based on

s passages only.

‘Pamge—l

yording to the Food and Agriculture
(rganization, one-third of food produced for
fuman consumption is lost or wasted globally.
food is lost or wasted throughout the supply
dain, from initial agricultural production to
fal household consumption. The increasing
Tstage also results in land degradation
% about 45%, mainly due to deforestation,
Usustainable  agricultural practices, and
9%ssive groundwater extraction. The energy
%t over wasted food results in about
% billon tonnes of carbon dioxide production
’fC.!y year. Decay also leads to harmful
ssions of other gases in the atmosphere.
‘ddmssing the loss and wastage of food in
t°’_ms is critical to complete the cycle of food
€0cy and food sustainability.

L Which of the following statements best
Teflect the most logical and rational
inferences that can be made from the
Passage?

'1' The current methods of food
distribution are solely responsible
for the loss and wastage of food.

Land productivity is adversely
affected by the prevailing trend of
food 10ss and wastage.

B‘GSF’P/G 1B

3. Reduction in the loss and wastage
of food results in lesser carbon
footprint.

4. Post-harvest technologies to
prevent or reduce the loss and
wastage of food are not available.

Select the correct answer using the
code given below.

(@ 1,2 and 3"
(b) 2 and 3 only
(¢ 1,3 and 4

(d 1,2 and 4

32. Based on the above passage, the

following assumptions have been made :

1. The food distribution mechanism
needs to be reimagined and made
effective to reduce the loss and
wastage of food.

2. Ensuring the reduction of wastage
and loss of food is a social and
moral responsibility of all citizens.

Which of the assumptions given above
is/are valid?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ B.T.O.
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Passage—2

pflation rises, even governments previously
ited to budget discipline are spending
ey 10 help households. Higher interest rates
gounced by central banks are supposed to
ﬁpproduce modest fiscal austerity, because
, paintain  stable debts while paying more
; borrow, governments must cut spending
¢ mise taxes. Without the fiscal backup,
metary policy eventually loses traction.
Kher interest rates become inflationary, not
inflationary, because they simply lead
gemments to borrow more to pay rising
#tservice costs. The risk of monetary
umoring is greater when public debt rises,
Mause interest rates become more important
bbudget deficits.

. Which of the following statements best
reflects/reflect the most logical and
rational inference/inferences that can
be made from the passage?

. Central banks cannot bring
down inflation without budgetary
backing.

2. The effects of monetary policy
depend on the fiscal policies
pursued by the government.

Select the correct answer using the
tode given below.

) 1 only
) 2 only
(C) Both land 2’

4 Neither 1 nor 2

&GSPT/GIB
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34. Based on the above passage, the

following assumptions have been made :

1. Fiscal policies of governments are
solely responsible for higher prices.

2. Higher prices do not affect the
long-term government bonds.

Which of the assumptions given above
is/are valid?

(@ 1 only ,
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

35. What is the least possible number of

cuts required to cut a cube into 64
identical pieces?

(@ 8
®) 9 -
(c) 12+

(d 16

36. In the expression S5 *4 * 3*2+1],

* is chosen from +, -, X each at most
two times. What is the smallest non-
negative value of the expression?

(@ 3

(b) 2

¢ 1

(d 0

[ P.T.O.
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© 20%

(d) 25%
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. TAEA 12 x2% x 36 x48 ... x2550 §

i % 3fa 3 fore A I §7

(@ 50

(b) S5

(c) 100

(d 200
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o A certain number of men can complete
' a piece of work in 6k days, where k is
a natural number. By what percent

39. How many consecutive zeros are there

at the end of the integer obtained in the
product 12 x2% x 3% x48 x...x25%0?

should the number of men be increased
so that the work can be completed in

5k days? (@ S0
10%
(a) I
(b) (50/3)%
(c) 100
€ 20%
@ 25% (d) 200

40. On January 1st, 2023, a person saved
¥ 1. On January 2nd, 2023, he saved .
¥2 more than that on the previous day.
On January 3rd, 2023, he saved
¥2 more than that on the previous day
and so on. At the end of which date
was his total savings a perfect square
as well a perfect cube?

®.X,Y and Z can complete a piece of work
individually in 6 hours, 8 hours and

8 hours respectively. However, only one
Person at a time can work in each hour
and nobody can work for two
Consecutive hours. All are engaged to
finish the work. What is the minimum
amount of time that they will take to
finish the work? _
(@) 7th January, 2023

@ 6 hours 15 minutes
(b) 8th January, 2023

b 6 hours 30 minutes

() 9th January, 2023
© 6 hours 45 minutes

@ 7 hours

g

(d) Not possible «

SPr/61B 19 (PT.0.




——__7——ﬁ

Pt 2 () srwrisit 3 forg fer « aRede—2

ﬂ%ﬁqmg\wﬁa@aauﬁqmm%m T G T T T % g T gen a1 9w g
aﬁmm%maﬁqmm%mm e B aHfa F F R e dgRal eam
Waﬁaaqﬁﬁzﬁmaﬂmﬁﬁml R F R wE giw Semm 2 B v R
RASERGR SECEE LR cR .
afede—1 qémaﬁzmmwwzﬁﬁlﬁiﬁ’@ﬁWﬁgw
AR B 3 B, o o e g P P PR Y, e v -3 4 o g
SR SO T A1 D vl W o v o TR A TR T o v w5 g 78 2,
m%%mgﬁﬁ@wi,% R ﬁmm%,mnﬁmﬂ%mmm
(Rfherm) ok fiigw (Rfwa) @ o %) o STERE A WRE
mma:ﬁsﬁﬁﬁﬂmw@mmaﬁmm

mélwmilm,ﬂzm%mm

mﬁélmmmmﬁﬁa@mm 42.3@%%%«,%@@1

A A | VR H1oA qenelel F e Fxan & Sy T
A, -k Avgs, AT A of 2 v H
e H gomn A, w1 Aewaitye qanda w5 g 1. W%Mmﬁm%%wm
T Z R T, 97 AR 92 (FEerT) ¥ I fagda, A e % gom §)
w1 fammar 3R sram T N wega w=ar 2y
2. WD F dwE g 6 @ ¥
aﬁmmmﬁmwﬁmqﬁm
41. fr=fafea 4 @ FR-a1 w97, 9w == T 2
wifa waifys abamm o fEepl w@u =
gatay ¥9 Q@ qufar 3?7
(@ & T @R, A% ReE @, W TR ISl # 3 #e-ah e
qﬁﬁmﬁﬁmimm
AR Hrea @ F R R R) ) S
) @ A, FeAREw ¥ ol wEm
fawa & %, st @ o wi v ¥
e # £ (¢) 13K 23
(@ fear, Frigma ir wga R P 3§,
ren et forda 1 T w9 R @ T 1 shqd o
KSPC-B-GSPT/61B =0




Dﬁecﬁon‘ for the following 2 (two) items :

gead the following two passages and answer
e items that follow the passages. Your
; agswers t0 these items should be based on
! e passages only.

Passage—1

. Unlike religion and science, poetry does not

psit or expect any belief in absolute truths.
[ Those forces or individuals who claim to have
dsolute truths in their grasp tend to turn
fictatorial and tyrannical. Truth usually does
mt admit any contradictions or imperfections.
Itis unitarian. It is, therefore, not of much use
fr poetry. Poetry abides by the plurality of
e and existence. Perhaps poetry follows
rality which is plural, anachronistic, full of
ontradictions. Against the tyranny of truth,
Retry remains a partisan of democratic reality.
"?inst the arrogance of power, wealth and
lierarchy, poetry proposes both humility and

ce.

‘L Which one of the following statements
best reflects the most logical and
rational message conveyed by the above
paSsage?

(@ 1t is the poetry, not science Or
religion, which recognizes and
accepts imperfections in hu
Truth is revealed through science
or religion and poetry js anathema
to truth.

Poetry is romantic,
is about feeling whe P
and religion are about truth.

violence, tyranny a“,d
of dynamicC

()

imaginary and
reas science

c)

(d)

In a world of
bigotry, poetry is a form
resistance.

K%p&&c

A

SPT/61B
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Passage—2

The flower was not invented to please us. It
flaunted its petals and spread its perfume to
attract an insect. The insect carries the pollen
from flower to flower so that pollen.is not
carried away by wind and thus not wasted.
What we call a flower’s beauty is merely
a by-product and a human invention. The
perfume is not there to please us, it pleases
us because it is there and we have been
conditioned to it.

42, Based on the above passage, the
following assumptions have been made :

1. The author of the passage believes
that creations of
Nature’s luxury.

flowers are

2. The author of the passage does not
believe in the usefulness of flowers
except as things of beauty.

Which of the assumptions given above
is/are valid?

(@ 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2 .

[ P.T.O.
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3. A Question is given followed by two

gtatements I and II. Consider the
Question and the Statements.

Age of each of P and Q is less than
100 years but more than 10 years.
If you interchange the digits of the
age of P, the number represents the
age of Q.

Question :

What is the difference of their ages?

Statement-I :

The age of P is greater than the
age of Q.

Statement-II :

The sum of their ages is 11/6 times
their difference.

Which one of the following is correct
in respect of the above Question and
the Statements?

() The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both  the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements

together

kSp
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45. If a+b means a-b;

44. A Main Statement is followed by four

Statements labelled P, Q, R and S
Choose the ordered pair of the
Statements where the first Statement
implies the second, and the two
Statements are logically consistent with
the Main Statement.

Main Statement :

Pradeep becomes either a Director
or a Producer.

Statement P : Pradeep is a Director.
Statement Q : Pradeep is a Producer.
Statement R : Pradeep is not a Director.
Statement S : Pradeep is not a Producer.

Select the correct answer.

(a) SP only

(b) RQ only

(c) Both SP and RQ

(d) Neither SP nor RQ

a-b means
axb, axb means a+b;, a+b means
a+b, then what is the value of

10+ 30-100x 50+25? (Operations are
to be replaced simultaneously)

(a) 15
(b) 0
(c) -15

(d) -25

[ P.T.O.
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46. IR Pw At AR o) }; 0w wd Y 48. IR s fAfm #1e §, ‘POT’ N ATOP ¥ w3

?'ﬂatk):%;mef‘%m?ﬁ(%)’%; S férar i R aw “TRAP” #) APART % w3
*’W?Wﬁ(ﬁ’%aﬁzrmuﬁ foran <man @, @ 7@ W & ‘ARENA’ 7 4%
TR (=) R}, A FrafiRe o W Rrew foran s 37
ﬁﬁq: .
(@) AARENA
1. 3R 2x(S)3y 3 3x(THz, A oy(P)sz.
(b)) AANREA
2. 3fe -
x(QRy 3R y(R)z, A x(R)z. (€ AANEAR
wgﬁmﬁﬁ%m-m/ﬁq-ﬁmgg? (d) AANERA
(@ a1 49. 3FHA 3, 14, 39, 84, *, 258 F + ¥ WH ®
1 e ?
(b) FF 2 @ 150
(c) 1 3x 2 3 (b) 1SS
(©) 160
(d IR1dRTIA2
d 176
47. a2 & fAfd@ #ie #, ‘ABCD’ # 24 & & # 50. &t #rs &, A P, Q, R, S, T Few 4, s,
foran stran 2 @01 ‘EFGH’ & 1680 & &9 & 10, 12, 15 % fisfa +=Q &1 7@ wa 78 2
foran ST 2, @ @ B F UKL B R & - R M- e W Prel w=m
fren s 87 2 M Q-5-28 M T=R+s+3 % @
P+R-T &1 9H &1 ¥?
(a) 11880 (@ 1
(b) 11240 ®) 2.
(c) 3
(c) 7920

(@) svain gt ¥ wror Puifg @ B
(d) 5940 ST R
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4. If P means ‘greater than (>); Q means 48. If in a certain code, POT’ is written as
less than (<)’; R means ‘not greater ATOP and ‘ TRAP’ is written as APART,
than (#)’ ; Smeans not less than (£ and ' then how is ‘ARENA’ written in that
T means ‘equal to (=), then consider code?
the following statements :

: (@) AARENA
1. If 2x(S)3y and 3x(TW¥z then
9y(P) 82. (b) AANREA
9. If x(Q)2y and y(R)z, then x(Rz. (c) AANEAR
Which of the statements given above (d) AANERA-
is/are correct?
49. What will come in place of * in the
sequence 3, 14, 39, 84, *, 258?
(@ 1 only
(@) 150
(b) 2 only
(b) 155
(0 Both 1 and 2 (c) 160
(d 176

(d) Neither 1 nor 2

50. In some code, letters P, Q, R, S, T
represent numbers 4, 5, 10, 12, 15.

4. If in ; ‘ABCD’ is written as .
a certain code, ‘A It is not known which letter represents

¥ % 3 1680, then .

:4 ar.xd ‘EFGf—I 1:7» Wﬂtfcnt;:t e which number. If Q-S=2S and

ow is JJKL’ written 1n T =R+S+ 3, then what is the value of
P+R-T?

() 11880
(@ 1

() 11240 (b) 2

() 7920 @3

(d) Cannot be determined due to
insufficient data
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pirections for the following 3 (three) items :

gead the following three passages and answer
the items that follow the passages. Your
amswers to these items should be based on

the passages only.

Passage—1

In a robust democracy, reality, howsoever
inconvenient it may be, finds its expression
both in the speech of political leaders and the
other social forms of assertion. The existence
of the real has to be transparent, both through
its circulation in and by the media as well as
its argumentative articulation in deliberative
democracy. A normatively responsible media
through its communication effect has the
responsibility to circulate the content of reality
without distortion.

51. Which one of the following statements
best reflects the crux of the above
passage?

(@) Responsible media should not
distort the. real in an ideal

democracy.

Fake news seems inherent in the
life of an ideal democracy.

There should not be any kind
of restrictions on the freedom of
expression in an ideal democracy.
Irresponsible media and political

leaders cannot be
controlled in an ideal democracy.

(b)

(c)

(@)

Passage—2
:‘r:'a‘days there is a growing trend to use
. Tconnected home devices. As consumers
QO::asingly network their homes, the
‘®cted home device manufacturers and
C¢ providers will seek to overcome “thin

KSp
C-B-Gspr/61B

effectively -

27

profit margins by gathering more of our
personal data—with or without our agreement—
turning the home into a corporate storefront”.
Corporate marketers will have powerful
incentives to observe consumer behaviour to
understand the buying needs and preferences
of the device owners.

52. Which one of the following statements
best reflects the most logical, rational
and practical message implied by the
passage?

(@ Knowledge of consumer behaviour
leads to more capital expenditure
in manufacturing sector.
Knowledge of consumer behaviour
stimulates the growth of commerce
and trade and thus helps in the
overall economic development of
the country.

Interconnected devices give a lot of
comfort to home users and improve
the overall quality of life.
Interconnected devices can be at
security risk and home users may
have privacy risk.

(b)

(c)

(d)

Passage—3

Green growth involves rethinking growth
strategies with regard to the impacts on
environmental sustainability  and the
environmental resources available to poor
and vulnerable groups. In rethinking growth,
we need to focus on the current reality of
a resource-constrained world. Resource
intensive and, in particular energy intensive
processes will need to make way for more
efficient and resource frugal development
strategics if we are to avoid an economic dead

[ P.T.O.
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end OF @ world in which only a small elite is
able to enjoy affluence in the midst of a sea

of poverty-

3. Which one of the following statements
best reflects the crux of the above

| passage?

‘> (@ Environmental sustainability is

inimical to our objective of

achieving a high rate of GDP

growth.

(b) Poverty eradication is not possible
without a rapid economic growth
and the consequent environmental
degradation.

(c) Maintaining high environmental
standards is now a prerequisite for

achieving a steady, sufficient and °

inclusive growth.

(d) With large populations, rampant
poverty and limited resources
of today’s world, environmental
degradation cannot be prevented
and inequalities are inevitable.

54. A Question is given followed by two
Statements I and II. Consider the
Question and the Statements.
Question :

/ What are the unique values of
x and y, where x, y are distinct
natural numbers?

Statement-I : x/y is odd.

Statement-II : xy =12

Which one of the following is correct

in respect of the above Question and

the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

kS
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(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

55. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

A certain amount was distributed
among X, Y and Z.

Question :

Who received the least amount?

Statement-I :

X received 4/S of what Y and Z
together received.

Statement-II :

Y received 2/7 of what X and Z
together received.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

[ P.T.O.
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5. A Question is given followed by two

gtatements I and IL Consider the

Question and the Statements.

Question :
If the average marks in a class
are 60, then what is the number
of students in the class?

Statement-I :

The highest marks in the class are
70 and the lowest marks are 50. -
Statement-II :
Exclusion of highest and lowest
marks from the class does not
change the average.
Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b)) The Question can be answered by
using either Statement alone

(¢ The Question can be answered by
using .both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

7. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

There are three distinct prime numbers
whose sum is a prime number.

Question :

What are those three numbers?
Statement-I : Their sum is less than 23.
Statement-II : One of the numbers is 5.

KSpe.
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Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

58. A Question is given followed by two

Statements 1 and IL Consider the
Question and the Statements.

Question : Is (x + y) an integer?
Statement-I : (2x + y) is an integer.
Statement-II : (x +2y) is an integer.

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements

together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

| PA.O:
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5. A Question is given followed by two

KSpe.

Statements I and II. Consider the
Question and the Statements.

A person buys three articles p, gand r
for ¥ 50. The price of the article gis ¥16

which is the least.

Question :
What is the price of the article p?

Statement-I :

The cost of p is not more than
that of r.

Statement-II :

The cost of r is not more than
that of p.

Which one of the following is correct

in respect of the above Question and '

the Statements?

(@ The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

B-Gsp1/618

60. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

P, O, R and S appeared in a test.

Question :

Has P scored more marks than Q?

Statement-I :

The sum of the marks scored by
P and Q is equal to the sum of the
marks scored by R and S.

Statement-II :

The sum of the marks scored by
P and S is more than the sum of
the marks scored by Q and R

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but-cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

[ P.T.O.
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airectbn' for the following 3 (three) items :

wad the following three passages and answer

he

items that follow the passages. Your

pswers 10 these items should be based on

te passages only.

Passage—1

When an international team of scientists
pumped a carbon dioxide and water mix into
underground basalt rocks, basic chemistry took
wer. The acidic mixture dissolved rocks’
clium and magnesium and formed limestone.
Basically carbon dioxide is converted into
sone, exclaimed the scientists.

61. Which one of the following statements
best reflects the most logical, rational
and practical suggestion implied by the

passage?

(a)

(b)

(c)

(@

It is a cheap and practical method
to produce limestone at commercial
level for building purposes.

This can be used as one of the
methods of carbon sequestration.

Basalt rock can be made a good

source of calcium and magnesium
minerals by this method.

Good rock-dissolving acid can be
produced by mixing carbon dioxide
and water.

ks
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Passage—2

Geographers analyzed 175 satellite images
of ocean colour, which is an indicator of
phytoplankton productivity at the ocean’s
surface, and found that giant icebergs are
responsible for storing up to 20 percent of
carbon in the Southern Ocean. The researchers
discovered that melting water from giant
icebergs which contains iron and other
nutrients, supports hitherto unexpectedly high
levels of phytoplankton growth.

62. Based on the above passage, the
following assumptions have been made :

1. Giant icebergs have a Dbearing
on primary productivity and food

chains of the Southern Ocean. °

2. Melting of giant icebergs can
produce climate change effects and
impact world fisheries.

Which of the assumptions given above
is/are valid?

(@ 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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Pa e—3 :
wsag 66. A person walks 100 m straight from his

house, turns left and walks 100 m,
again turns left and walks 300 m, then
turns right and walks 100 m to reach
his office. In which direction does he
walk initially from his house if his office
is exactly in the North-East direction?

ation has endowed caterpillars that feed
om with & unique ability, they can induce
;pxant to turn off its defence against insect
ators. This helps caterpillars to eat more
;dsmw faster. The agent that causes this

atis the caterpillar’s faeces or frass. The find (@) North-West -
4id throw new light on compounds associated (b) West

¢h plant response to pathogens like fungi (© South

r bacteria.

(d) South-West

8. Which one of the following statements
best reflects the most logical, rational
and practical message conveyed by the

67. A person walks 100 m Westward, then
turns left and walks 100 m. He then
takes 225° turn clockwise. In which

passage? direction is he walking now?
(@ Farmers can use caterpillars to (@) South-West

feed on weeds in their crop fields/ (b) South-East

plantations.

(¢) North-West

(b) This finding ¢ P (d) North-East -

development of clinically useful

antimicrobial compounds. . .
68. A Statement is given followed by

64

Gs.

L

() This finding can help in the
development of organic, ecologically
sustainable pesticides.

(d) Caterpillars can be genetically
modified to be predators of the
other plant pests.

* 328 4227 i givisible by

(@ 3 ) 7
9 10 @ 11
Yt p and q be positive integers satisfying

P<gand p +q= k. What is the smallest
Value of k that does not determine

P and g uniquely?
@ 3 () 4
© s (d 6

8-GspPr/61B
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two Conclusions numbered I and II.
Consider the Statement and the
Conclusions.

Statement :

India is the
producer of milk.

Conclusion-I :

world’s largest

India is the world’s largest exporter
of milk.

Conclusion-II :

India does not import milk.
Which one of the following is correct?
(a) Only Conclusion-I follows
(b) Only Conclusion-II follows

(c) Both Conclusion-I and Conclusion-II
follow

(d) Neither Conclusion-I nor
Conclusion-II follows

| P<TO.
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0 Question is given followed by two
\statements I and II. Consider the
Question and the Statements.

Question :

What are the values of m and n,

where m and n are natural
numbers?

Statement-I :

m+n>mn and m> n.

Statement-II :

The product of m and n is 24.

Which one of the following is correct

in respect of the above Question and
the Statements?

@ The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

Y The Question can be answered by

Using either Statement alone

o)

The Question can be answered by
Using both the Statements
together, but cannot be answered
Using either Statement alon¢

ed
The Question cannot be answer

ts
tven by using both the Statemen
together

SPr/61B
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70. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.
Question :

What is the time required to
download the software?

Statement-I :

The size of the
12 megabytes.

software is

Statement-II :

The transfer rate is 2:4 kilobytes
per second.

Which one of the following is correct

in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,

but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using  both the Statements
together, but cannot be answered
using either Statement alone .

(d) The Question cannot be answered

even by using both the Statements
together

[P.T.O.
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jons for the following 4 (four) items :

the following two passages and answer
2mS that follow the passages. Your

s to these items should be based on

ssages only.

Passage—1

wentional classrooms, by emphasizing fixed
aton over learning effectiveness, resign

ite classroom is that every learner is
ticted to the same set of lectures in the
we way for the same duration. In the end,
kv learners shine, some survive, and the
% are left behind. After the fixed duration,
% cassroom model moves on, with not a
ught spared for those left behind. This is
,"“ end up with 10 percent employability
Yorr graduates after a decade and half
Tformal education. Repeating the same
*lectual script in the realm of skill education
" not produce different results.

"L Which of the following statements best
reflects/reflect the most logical and
rational inference/inferences that car
be made from the passage?

. In conventional classroom learning,
tion of

the central goal is duré
learning rather th
competency-

gsrooms encourage
approach and
rentiation.

2. Conventional cla
one-size-fits-all
stamp out all diffe

¥
c‘B‘GSPT/«S 1B

wmelves to variable outcomes. The tyranny

Select .the correct answer using the
code given below.

(@) 1 only
(b) 2 only
(¢ Both1and 2 °
(d) Neither 1 nor 2

72. Based on the above passage, the
following assumptions have been made :

1.

As a large number of workers in
our country are employed in
unorganized sector, India does not
need to change its present
conventional classroom system of
education.

Even with its present conventional
classroom system of education,
India produces sufficient number of
skilled workers to fully realize the
benefits of demographic dividend.

Which of the assumptions given above
is/are valid? :

(@) 1 only
(b) 2 only

(©)

Both 1 and 2

(d) Neither 1 nor 2 -

Passage—2

When a child reaches adolescence, there is apt
to be a conflict between the parents and the
child, since the latter considers himself to be
by now quite capable of managing his own
affairs, while the former are filled with parental
solicitude, which is often a disguise for love
of power. Parents consider, usually, that the
various moral
adolescence are peculiarly their province.
The options they express, however, are so

problems which arise in

[ P.T.O.
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(b)

(c)

(@)

84
(a) 83 )
(c) 85 (d) 86
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_atic that the young seldom confide in 77. A person buys three articles P, Q and R
. and usually go their own way in secret. for ®3,330. If P costs 25% mc:re than R
and R costs 20% more than O, then what
is the cost of P?

(@ €1,000 (b) €1,200

n. Based on the above passage, the following
assumptions have been made :
1. The adolescent does not feel
comfortable with his parents (e 15280 @ €130
because they tend to be dominating 78. If the sum of the two-digit numbers AB

and assertive. *

5. The adolescent of modern times
does not have much respect for
parents.

Which of the assumptions given above

is/are valid?

(@ 1 only.

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

74. Which one of the following statements

best reflects the central idea of the above

passage?

(a) Parents in general may not be of
much help when children are on
their way to becoming adults.’

() When children reach adolescence,
involvement of parents in their
lives is unnecessary.

(c) Modern-day nuclear families are
not capable of bringing up children

properly.

(d) In modem societies, adolescents
tend to be stubborn, disobedient
and careless.

75. What is the number of fives used in
numbering a 260-page book?

(a) SS (b) 56

(c) 57 (d) 60-

76. V\_Ihat is the sum of the first 28 terms
in the following sequence?

11,21321432154,32"

(a) 83 (b) 84
(c) 85 (d) 86
KSPC-B-GSPT/61B
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and CD is the three-digit number 1CE,
where the letters A, B, C, D, E denote
distinct digits, then what is the value
of A?
(@) 9
() 8
(c) 7
(d) Cannot be determined due to
insufficient data

79. Three numbers X, Y, Z are selected from

the set of the first seven natural numbers
such that x >2y> 3z. How many such
distinct triplets (% Y z) are possible?
(@) One triplet

(b) Two triplets

(c) Three triplets

(d) Four triplets

80. The total cost of 4 oranges, 6 mangoes

and 8 apples is equal to twice the total

cost of 1 orange, 2 mangocs and S apples.

Consider the following statements :

1. The total cost of 3 oranges,
5 mangoes and 9 apples is equal
to the total cost of 4 oranges,
6 mangoes and 8 apples.

2. The total cost of one orange and one
mango is equal to the cost of one
apple.

Which of the statements given above

is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[ BT.O.



Food and  Agriculture
rd of fooq produced for

Dsumption. The increasing
vastage also results in land degradation
y about 45%, mainly que to deforestation,
insustainable  agricultura] Practices, and
xcessive groundwater extraction. The energy
pent over wasted food results in about
5 billion tonnes of carbon dioxide production
ery year. Decay also leads to harmful
nissions of other gases in the atmosphere.
ldressing the loss and wastage of food in
forms is critical to complete the cycle of food
fiiciency and food sustainability.

1. Which of the following statements best
reflect the most logical and rational
inferences that can be made from the

passage?

1. The current methods of food
distribution are solely responsible
for the loss and wastage of food.

9. Land productivity is adversely
‘ affected by the prevailing trend of
food loss and wastage.

-B-GSPT/61A

tage
3. Reduction in the loss and Was g

. bon
of food results in lesser car

footprint.

4. Post-harvest technologies + to0

d
prevent or reduce the loss an
wastage of food are not available.

Select the correct answer using the
code given below.

(@) 1,2 and 3
(b) 2 and 3 only
fc) 1, 3 and 4

(d) 1, 2 and 4

2. Based on the above passage, the
following assumptions have been made :

1. The food distribution mechanism
needs to be reimagined and made
effective to reduce the loss and
wastage of food.

2. Ensuring the reduction of wastage
and loss of food is a social and
moral responsibility of all citizens.

Which of the assumptions given above
is/are valid?

(@ 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.0.
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nelp produce modest fi

] scal austerity, bec
{0 maintain stable de ¥, because

bts while i

paying more
TOW, g0V
1o bor governments myst cut spending

or raise taxes. Withoyt the fiscal backup
monetary  policy €ventually loses tractionj
Higher interest rates become inflationary, not
gisinflationary, because they simply lead

governments to borrow more to pay rising

debt-service costs. The rigsk of monetary

ynmooring is greater when public debt rises,

pecause interest rates become more important
to budget deficits.

3. Which of the following statements best
reflects/reflect the most logical and

rational inference/inferences that can
be made from the passage?

\
1. Central banks cannot bring
down inflation without budgetary
backing.
2. The effects of monetary policy
depend on the fiscal policies
pursued by the government.

Select the correct answer using the
code given below.

(@ 1 only
(b) 2 only
(c Both 1 and 2

(d) Neither 1 nor 2

KSPc-B_GSPT/61A

4. Based on the above passage g

following assumptions have been made

re
1. Fiscal policies of govemments? :S
solely responsible for higher Priccs:

2. Higher prices do not affect the
long-term government bonds.

Which of the assumptions given above
is/are valid?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

5. What is the least possible number of

cuts required to cut a cube into 64
identical pieces?

(@ 8
(b) 9
() 12

(d) 16

6. In the expression 5 * 4 = 3 * 2 % ],

* is chosen from +, -, x each at most
two times. What is the smallest non--
negative value of the expression?

(@) 3
(b) 2
(c) 1

(d o

| P10
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7. A certain number of men can complete

a piece of work in 6k days, where k is
a nfm?ﬂjllln_tler' By what percent
should the number of men be increased
so that the work can be completed in
5k days?

(@ 10%
(b) (50/3)%
() 20%

(d 25%

8. X,Y and Z can complete a piece of work

individually in 6 hours, 8 hours and
8 hours respectively. However, only one

person at a time can work in each hour

and nobody can work for two

consecutive hours. All are engaged to

finish the work. What is the minimum
amount of time that they will take to
finish the work? ,

(@ 6 hours 15 minutes
(b) 6 hours 30 minutes
(c) 6 hours 45 minutes

(d) 7 hours

K
SPC-B_GSPT/61A

9.

How many consecutive

ros are there
in the
509

ze
r obtail’led

at the end of the int€ge
.x25

8 «.-
product 12 x 2% x 0.XA ™ %

(@ 50
(b) 55
(c) 100
(d) 200

10. On January lst, 2023, a person saved

¢ 1. On January 2nd, 2023, he saved
&2 more than that on the previous day.
On January 3rd, 2023, he saved
#2 more than that on the previous day
and so on. At the end of which date
was his total savings a perfect square

as well a perfect cube?

(@) 7th January, 2023

(p) 8th January, 2023

(c) 9th January, 2023

(d) Not possible

[ P.T.O.




- ctions for the following 4 (four) items :

2 the foli;\:tmgf ]t]wo Passages and answer
: jtems Ollow the Passages. Your

gwers 10 these items should pe based on
e passages only.

Passage—1

Today; if we consider cities such as New York,
jondon and Paris as some of the most iconic
gies in the world, it is because plans carrying
, heavy systems approach were imposed
o their precincts. The backbone of the
gystems theory is the process of translating
cocial, spatial and cultural desirables into
mathematical ~models using computing,
statistics, optimization and an algorithmic way
of formulating and solving problems. The early
wiversities of the West which began to train
pofessionals- in planning, spawned some of
the most ingenious planners, who were experts
in these domains. This was because these very
subjects were absorbed into the planning
arrdculum that had its roots in the social
sciences, geography and architecture. Planning
inIndia, and its education differ from the West.

11. Which one of the following statements
best reflects the most . logical and
rational inference that can be made
from the above passage?

(@ Curriculum for urban planning
courses should have diverse and

interdisciplinary approach.

(b) In India, city administration is
under bureaucracy which lacks
formal training in urban planning
and management.

¥SPe-B Gspr/61A

(c) In India, the management of urbair(:
areas is a local affair with a chron
problem of insufficient funds.

(d) With high density of population
and widespread poverty in our
urban areas, planned d_evelopment
in them is very difficult.

12. Based on the above passage, the
following assumptions have been made :

1. India needs a new generation
of urban professionals with
knowledge relevant to modern
urban practice.

2. Indian universities at present have
no capacity or potential to impart
training in systems approach.

Which of the assumptions given above
is/are correct?

‘(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Passage—2

Not every voice on the internet commands
the same kind of audience. When anonymous
private entities with high capital can pay for
more space for their opinions, they are
effectively buying a louder voice. If political
discourse in the digital sphere is a matter of
outshining one’s opponent till the election is

won, then the quality of politics suffers. The
focus of social media is restricted to the

FRRO.



rolﬂotion of content that generates more yser

ﬂgﬂgement’ regardless of how inflammat.

0
ontent may be. o

the ©

3. Which one of the following statements

best reflects the centra] idea of the
above passage?

(a) Constructed as g marketplace of

ViIEWS, social media ensures instant
access to information.

(b) Social media are not ideal or moral
Institutions but the products built
by companies to make profits.

(c) Social media have been created to
strengthen democracies.

(d) In today’s world, social media are

inevitable for well-informed social
life.

14, Based on the above passage, the
following assumptions have been made :

1.  Internet is not inclusive enough.

2. Internet can adversely affect the
quality of politics in a country.

Which of the assumptions given above
is/are valid?

(@ 1 only

(b) 2 only

(c Both 1 and 2
(d) Neither 1 nor 2

15. 299333 | 333222 jg divisible by which of
the following numbers?
(@ 2 and 3 but not 37
(b) 3 and 37 but not 2
(¢ 2 and 37 but not 3
(d) 2, 3 and 37

| KspC-B—GSPr/s 1A
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16. What percent of water must be mi}fed
with honey so as to gain 20% by sel}?ll‘lg
the mixture at the cost price of honey
(@ 20% (b)) 10%

(c) 5% (d) 4%

17. What is the rightmost digit3 g)receding
the zeros in the value of 30 ?

(@ 1 (b) 3
(¢ 7 @ 9

18. 421 and 427, when divided by the same
number, leave the same remainder 1.
How many numbers can be used as
the divisor in order to get the same
remainder 1?

(@) 1 (b) 2
(c 3 d 4

19. A can X contains 399 litres of petrol and a2
can Y contains 532 litres of diesel. They
are to be bottled in bottles of equal size
so that whole of petrol and diesel would
be separately bottled. The Dbottle
capacity in terms of litres is an integer.
How many different bottle sizes are

possible?
(@ 3 (b) 4
(c) S (d) 6

20. Consider the following statements in
respect of the sum S=x+ y+2z, where
x, y and z are distinct prime numbers
each less than 10 :

1. The unit digit of S can be 0.

2. The unit digit of S can be 9.

3. The unit digit of S can be 5.
Which of the statements given above
are correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(@ 1, 2 and 3

|8kl F



‘ue"tions for the following 3 (three) items :

the following two passages ang answer
tems that follow the pPassages. Your
TS to these items should be baseq on
. assages only.

ead

Passage—1

- the time children reach class 8, the bulk of
em tend to be in the age range of 13 years to
5 years. But in our country, about a quarter of
1 children in class 8 struggle with reading
mple texts and more than half are still unable
, do basic arithmetic operations like division.
very year about 25 million young boys and
rls from elementary school move into the life
hat lies for them beyond compulsory schooling.
hey cannot enter the workforce at least in
he organized sector till they are 18. For many
amilies, these children are the first from their
amilies ever to get this far in school. Parents
nd children expect that such ‘graduates’ from
chool will go on to high school and college.
lardly anyone wants to go back to agriculture.
)n the other hand, abilities .in terms of
cademic competencies are far lower than
hey should be even based on curricular
Xpectations of class 8.

2l. Based on the above passage, the
following assumptions have been made :

1. For effective school education,
parents have greater role than the
governments.

2. School curriculum that conforms

to today’s requirements and is
uniform for the entire country may
address the issues brought out.

Ks
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Which of the assumptions given ab
is/are valid?

(@ 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

22. Which one of the following stateme

ove

nts

best reflects the central idea conveyed

by the passage?

(@) Total eradication of poverty in
country will resolve the issue

the
of

under-performance of our school-

children.
(b)) Monetary incentives to pare
and teachers is a strategy

nts
to

improve the children’s academic

performance.

(c)

Public policy should ensure that

competencies and achievements of
young people are aligned with their

expectations.

(@)

India is not going to take advantage

of the demographic dividend unless
some school pass-outs go back to

agriculture.

Passage—2

We take it for granted now. that science has

a social responsibility. The idea would

not

have occurred to Newton or Galileo. They
thought of science as an account of the world
as it is, and the only responsibility that they
acknowledged was to tell the truth. The idea
that science is a social enterprise is modern,
and it begins at the industrial revolution.
We are surprised that we cannot trace a social

{RT.O.
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y cctions for the following 4 (four) items :

the following two passages and answer
ijtems that follow the passages. Your
qwers 10 these items should be based on
e passages only.

Read

Passage—1

“The history of science is the real history of
mankind-" In this striking epigram, a
ninetecnth-cenjcury writer links science with its
packground. Like most epigrams, its power lies
in emphasizing by contrast an aspect of truth
which may be easily overlooked. In this case,
it is easy to overlook the relations between
science and mankind, and to treat the former

as some abstract third party, which can
sometimes be praised for its beneficial
influences, but frequently and conveniently

plamed for the horrors of war. Science and
mankind cannot be divorced from time to time
at men’s convenience. Yet we have seen
that, in spite of countless opportunities of
improvement, the opening years of the present
period of civilization have been dominated by
international conflict. Is this the inevitable
result of the progress of science or does the
fault lie elsewhere? ’

is/are
author of

31. Which of the following
emphatically conveyed by the
the passage?

1. Without science, mankind could
not. have continued to exist till

today.
9. It is the science that will ultimately
determine the destiny of mankind.
Select the correct answer using the
code given below.
(@ 1 only
(b) 2 only
(c Both 1 and 2 '
(d) Neither 1 nor 2
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32. Based on the above passage, by
following assumptions have been ™M :

dern life arc

1. The horrors of mo .
the inevitable result of the prosr
of science.

2. The aspect of truth '
overlooked is that science is

man has made it.

likely to b€
what

Which of the assumptions given above

is/are correct?

(@)
(b) 2 only

1 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Passage—2

Only with long experience and opening of
his wares on many a beach where his language
is not spoken, will the merchant come to know
the worth of what he carries, and what is
parochial and what is universal in his choice.
Such delicate goods as justice, love and honour,
courtesy, and indeed all the things we care for,
are valid everywhere but they are variously
moulded and often differently handled, and
sometimes nearly unrecognizable if you meet
them in a foreign land, and the art of learning
fundamental common values is perhaps the
greatest gain of travel to those who wish to
live at ease among their fellows.

33. When we meet other people while we
travel, we learn to differentiate between
(a) imagination and understanding
(bp) communities and nationalities
(c) local values and universal values

(d) friends and foes

| RTXOL




nse further back,

W& nurse the

golden age. lution engeq

23. Which one of the follgus
best reflects the 1. il

about the Science?
(a) Science

(b)

(c) Industria] revolu
possible by the
science,

tion wag made
advancements in

(d)

Science must pursue truth but be
responsible for social welfare,

24. Consider the sequence
A _BCD _ BBCDABC -DABC_D

that follows a certain pattern. Which

one of the following completes the
sequence?

(@ B, A D,C
(b) B, A, C,D
(0 A A, C, D
(d A, A D,C

25. Two persons P and Q enter into
a business. P puts ¥14,000 more
than Q, but P has invested for 8 months
and Q has invested for 10 months. If P’s
share is 400 more than Q’s share out
of the total profit of 2,000, what is
the capital contributed by P?

(@ 30,000
(b) €26,000
(c) €24,000
(d) 20,000

KSP&&GSM/& 1A
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26. P salary is 209 lower than Q’s salary
which is 200, lower than R’s salary. By
how much percent is R's salary more

than prg salary?

(a) 48'75°/o

(c) 60:50%

27. A number is

(b) 56-25%

(d) 62:25%
mistakenly divided by 4

Instead of multiplying by 4. What is

the percentage change in the result
due to this mistake?

(@) 25% (b) 50%
(c) 7275% (d) 93-75%

28. In an €xamination, 80% of students
passed in English, 70% of students
passed in Hindi and 15% failed in both
the subjects. What is the percentage of
students who failed in only one subject?

(@ 15% (b) 20%
(€ 25% (d) 35%

A father said to his son, “n years back

I was as old as you are now. My present
age is four times your age nyears back”.
If the sum of the present ages of the
father and the son is 130 years, what
is the difference of their ages?

(@) 30 years
(b) 32 years
(c) 34 years
(d) 36 years
30. Consider the following :
1. 1000 litres = 1 m3

2. 1 metric ton = 1000 kg

3. 1 hectare = 10000 m?2
Which of the above are correct?
(@ 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

[P.T.O.
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o with reference to the above passage, the
following assumptions have been made :

1. Travel leads to an understanding
of humans.

. Travel helps those who wish to
learn fundamental common values.

3, A person with long experience
in travel can resolve differences
amongst people. '

which of the assumptions given above
are valid?

(@ 1 and 2 only
(p) 2 and 3 only
¢ 1and3 only
@ 1,2 and 3

35. Let X be a two-digit number and Y be
another two-digit number formed by
interchanging the digits of X. If (X+Y)
is the greatest two-digit number,

then what is the number of possible
values of X?

(@) 2
(b) 4
(c) 6
(d 8
36. Consider the following :

Weight of 6 boys = Weight of 7 girls
= Weight of 3 men = Weight of 4 women

If the average weight of the women is
63 kg, then what is the average weight

of the boys?
(@) 40 kg
(b) 42 kg
(c) 45 kg
(d) 63 kg

KS
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37. How many times the hour hand and

minute hand coincide inac ay)?
10:00 a.m. and 2:00 p.-m- (same

(a) 3 times
(b) 4 times
(c) 5 times
(d) 6 times

38. The calendar for the year 2025 is same for

(@ 2029
(b) 2030
(c) 2031
(d) 2033

- 39. Let p;, @ r and s be distinct positive

integers. Let p, gbe odd and r, s be even-
Consider the following statements :

1. (p—r)2(qs) is even.
2. (q—s)q2s is even.
3. (g+r)%(p+9) is odd.

Which of the statements given above
are correct?

(@ 1 and 2 only
(b)) 2 and 3 only
() 1and 3 only
(@ 1,2 and 3
40. What is the angle between the minute

hand and hour hand when the clock
shows 4:25 hours?

(@ 12:5°
(b) 15°
(¢ 17'5°
(d) 20°

[ P TO;



mctiﬂ” for the following 4 (four) items :

cad the following two passages and answer
he gems that follow the passages. Your
ansWers to these items should be based on

he passages only.

Passage—1

Conventional classrooms, by emphasizing fixed
guration OVer learning effectiveness, resign
themselves to variable outcomes. The tyranny
of the classroom is that every learner is
subjected to the same set of lectures in the
same way for the same duration. In the end,
a few learners shine, some survive, and the
rest are left behind. After the fixed duration,
the classroom model moves omn, with not a
thought spared for those left behind. This is
how we end up with 10 percent employability
in our graduates after a decade and half
of formal education. Repeating the same
ineffectual script in the realm of skill education
will not produce different results.

41. Which of the following statements best
reflects/reflect the most logical and
rational inference/inferences that can
be made from the passage?

1. In conventional classroom learning,
the central goal is duration of
learning rather than attainment of

competency-

5 Conventional classrooms encourage

one-size-ﬁts—all approach and
stamp out all differentiation.
KSPc-B_GspT/61A
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Select the correct answer using th

code given below.

(@) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

above passage, the

have been made :

r of workers in
employed in

India does not
its present

ocom system of

42. Based on the
following assumptions
1. As a large numbe

our country are
unorganized sectoT,
need to change
conventional classT
education.

2. Even with its present conventional
classroom system of education,
India produces sufficient number of
skilled workers to fully realize the
benefits of demographic dividend.

Which of the assumptions given above
is/are valid?

(@ 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Passage—2

When a child reaches adolescence, there is apt
to be a conflict between the parents and the
child, since the latter considers himself to be
by now quite capable of managing his own
affairs, while the former are filled with parental
solicitude, which is often a disguise for love
of power. Parents consider, usually, that the
various moral problems which
adolescence are peculiarly their province
The options they express, however, are sc;

arise in

[ P.T.O.



dogﬂ‘atic that the young seldom confide in
them> and usually go their own way in secret.

) Based on the above passage, the following
assumptions have been made :

1. The adolescent does not feel
comfortable with his parents
because they tend to be dominating
and assertive.

2. The adolescent of modern times
does not have much respect for
parents.

Which of the assumptions given above

is/are valid?

(@ 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

44. Which one of the following statements
best reflects the central idea of the above
passage?

(a) Parents in general may not be of
much help when children are on
their way to becoming adults.

(p) When children reach adolescence,
involvement of parents in their
lives is unnecessary.

(c) Modern-day nuclear families are
not capable of bringing up children
properly.

(d In modern societies, adolescents
tend to be stubborn, disobedient

and careless.
45. What is the number of fives used in
numbering a 260-page book?
(@ 55 (b) 56
(c) 57 (d) 60

46. What is the sum of the first 28 terms
in the following sequence?

1121323432354 32

(@) 83 (b) 84
(c) 85 (d) 86
KSPc-p_Gspr/61A

47. A person buys three article

s P, Q and R
for ®3,330. If P costs 25% more than R
and R costs 20% more than @, then what
is the cost of P?

(@) ¥1,000 () €1,200

() ¥1,250 (@ €1,350

48. If the sum of the two-digit numbers AB

and CD is the three-digit number 1CE,
where the letters A, B, C, P, E denote
distinct digits, then what 18 the value

of A?

(@) 9

(b) 8

(¢ 7

(d) Cannot be determined due to
insufficient data

49. Three numbers x, Y, Z are selected from

the set of the first seven natural numbers
such that x >2y> 3z How many such
distinct triplets (x, y 2) are possible?
(a) One triplet

(b) Two triplets

(c) Three triplets

(d) Four triplets

50. The total cost of 4 oranges, 6 mangoes

and 8 apples is equal to twice the total

cost of 1 orange, 2 mangoes and 5 apples.

Consider the following statements :

1. The total cost of 3 oranges,
5 mangoes and 9 apples is equal
to the total cost of 4 oranges,
6 mangoes and 8 apples.

2. The total cost of one orange and one
mango is equal to the cost of one
apple.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



calcium and magnesium and formed limestone

Basically carbon dioxide
stone, exclaimed the scientists.

51. Which one of the following statements
best reflects the most logical, rational
and practical suggestion implied by the
passage?

(@) 1t is a cheap and practical method
to produce limestone at commercial
level for building purposes.

(b) This can be used as one of the
methods of carbon sequestration.

(c) Basalt rock can be made a good
source of calcium and magnesium

minerals by this method.

(d) Good rock-dissolving acid can be

produced by mixing carbon dioxide

and water.

KSPC-B_GSPT/61A

is converted into

Passage—2

Geographers analyzed 175 satellite images
of ocean colour, which is an indicator of
Phytoplankton productivity at the ocean’s
surface, and found that giant icebergs are
responsible for storing up to 20 percent of
carbon in the Southern Ocean. The researchers
discovered that melting water from giant
icebergs which contains iron and other
nutrients, supports hitherto unexpectedly high

levels of phytoplankton growth.

52. Based on the above the
following assumptions have been made :

passage,

1. Giant icebergs have a bearing
on primary productivity and food
chains of the Southern Ocean.

2. Melting of giant icebergs can
produce climate change effects and
impact world fisheries.

Which of the assumptions given above
is/are valid?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



or bacteria.

53. “{)thh one of the following statements
est reﬂe(.:ts the most logical, rational
and practical message conveyed by the
passage?

(@)

Farmers can use caterpillars to

feed on weeds in their crop fields/
plantations.

(b) This finding can help in the

development of clinically useful
antimicrobial compounds.

(c) This finding can help in the
development of organic, ecologically

sustainable pesticides.

(d) Caterpillars can be genetically

modified to be predators of the
other plant pests.
54. 325 4227 js divisible by

) 7
@ 11

(@ 3
(c) 10

55. Let p and g be positive integers satisfying -

p<gand p+q= k. What is the smallest

value of k that does not determine

p and g uniquely?
(b) 4

(d) ©

(@ 3
(e 5

KSPC-B-GSPT/61A
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56. A person walks 100 m straight from his
house, turns left and walks 100 m,
again turns left and walks 300 m, then
turns right and walks 100 m to reach
his office. In which direction does he
walk initially from his house if his office
is exactly in the North-East direction?
(@) North-West
(b) West
(c) South

(d) South-West

57. A person walks 100 m Westward, then
turns left and walks 100 m. He then
takes 225° turn clockwise. In which
direction is he walking now?

(a) South-West
(b) South-East
(c) North-West
(d) North-East

58. A Statement is given followed by

two Conclusions numbered I and II.

Consider the Statement and the
Conclusions.
Statement :

India is the world’s largest

producer of milk.
Conclusion-I :

India is the world’s largest exporter
of milk.

Conclusion-II :

India does not import milk.
Which one of the following is correct?
() Only Conclusion-I follows
(b) Only Conclusion-II follows

(c) Both Conclusion-I and Conclusion-II
follow

Neither Conclusion-I nor
Conclusion-II follows

()

[ P.T.O.
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59. A Question is given followed by two

Statements I and II. Consider the

Question and the Statements

Question :

What are the values of m and n,

where m and n are natural
numbers?

Statement-I :

m+n>mnand m>n.

Statement-II :

The product of m and n is 24.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
g one of the Statements alone,
g the

usin
but cannot be answered usin

other Statement alone

(b) The Question can be answered by

using either Statement alone

an be answered by
the Statements
annot be answered

(c) The Question €
using  both
together, but ¢

using either Statement alone

(d) The Question cannot be answered

even by using both the Statements

together

KSPC-B-GSPT/61A
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two
60. A Question is given followed bY -
Statements I and II. Consider
Question and the Statements.
Question :
What is the time required to

download the software?

Statement-I :

The size of the software is

12 megabytes.

Statement-II :
The transfer rate is 2-4 kilobytes
per second.

owing is correct

Which one of the foll
Question and

in respect of the above
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the

other Statement alone

(p) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using  both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

[ P.T.O.
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D".,etlons for the following 3 (three) it
ems :

. our

answers to these items sho
uld
the passages only. §° g on

Passage—1

In a ro"Dust democracy, reality, howsoever
inconvenient it may be, finds its expression
poth in the speech of political leaders and the
other social forms of assertion. The existence
of the real has to be transparent, both through
its circulation in and by the media as well as
its argumentative articulation in deliberative
democracy. A normatively responsible media
through its communication effect has the
responsibility to circulate the content of reality
without distortion. '

61. Which one of the following statements
best reflects the crux of the above

passage?

(a) Responsible media should not
distort the real in an ideal
democracy.

Fake news seems inherent in the
life of an ideal democracy.

should not be any kind
n the freedom of

(b)

There

of restrictions O
ssion in an jdeal democracy.

(c)

expre
(d) Irresponsible media and poli.tical
leaders cannot be effectively

controlled in an jdeal democracy.
Passage-—z
s a growing trend to use

interconnected home devices. As consumers

increasingly network their homes, the
connected home device manufacturers and
overcome “thin

service providers will seek to

Now-a-days there i

KSPC-B-GSPT/61A
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profit margins by gathering more of otlji
personal data—with or without our agreemen A
turning the home into a corporate storefront 1
Corporate marketers Wil have powerfu
incentives to observe consumer pehaviour t©
understand the buying needs and preferenccs

of the device owners.

of the following statements
cal, rational

the

62. Which one
best reflects the most logi
and practical message implied by

passage?

(a) Knowledge of consumer beha\fiour

leads to more capital expenditure
in manufacturing sector.

Knowledge of consumer behaviour

stimulates the growth of commerce

and trade and thus helps in the

overall economic development of

the country. '
(c) Interconnected devices give a lot of
comfort to home users and improve
the overall quality of life.
Interconnected devices can be at
security risk and home users may
have privacy risk.

(b)

@

Passage—3

Green growth involves rethinking growth
strategies with regard to the impacts on
environmental sustainability and the
environmental resources available to poor
and vulnerable groups. In rethinking growth,
we need to focus on the current reality of
a resource-constrained world. Resource
intensive and, in particular energy intensive
processes will need to make way for more
efficient and resource frugal development
strategies if we are to avoid an economic dead

[ P.T.O.



ond OF 8 world inp wh
able to €njoy affluen
of poverty.

ich on
€ in thy a smaj)

63. Which one of
best reflectg

passage? € above
(a) f:illvlgg:lmental sustamabihty is
aChieVing X h(i);}: objective of
et rate of GDP

(b) PO.Verty eradicatiq

degradation.

(c) Maintaining high  environmenta]
star?da'rds 1S NOW a prerequisite for
::1ch1ev1ng a steady, sufficient and
inclusive growth,

(d)

With large Populations, rampant
poverty and limited resources
of today’s world, environmental
degradation cannot be prevented
and inequalities are inevitable.

64. A Question is given followed by two
Statements 1 and II. Consider the
Question and the Statements.
Question :

What are the unique values' of
x and y, where x, y are distinct
natural numbers?

Statement-I : x /y is odd.

Statement-1I : XY= 12

Which one of the following is correct

in respect of the above Question and

the Statements?

d by
.on can be answere
(a) The gQ\;;:t:f the Statements alone,
usin

t cannot be answered using the
but c
other Statement alone

swered by
tion can be an
" Tl:ng \:t;er Statemcnt alone
u
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() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

65. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

A certain amount was distributed
among X, Y and Z.

Question :

Who received the least amount?

Statement-I :

X received 4/5 of what Y and Z
together received.

Statement-II :

Y received 2/7 of what X and Z
together received.

Which one of the following is correct

in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

[ P.T.O.



66. D Question ig

Statements |

Question ang tha:dstan

Question : tements,

of students in tpe clas , ey
s

Statement-] : 3

S In the class are

st m
Statement-II : arks are 50,

Excl;{lsion of highest ang lowest
marks from the clasg does not
change the average.

Which one of the following is correct

in respect of the above Questi
o
the Statements? e

(@ The Question can be answered by
using one of the Statements alone,

but cannot be answered using the
other Statement alone

() The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the )
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements

together

67. A Questic;n is given followed by two

Statements 1 and 1L Consider the
Question and the Stateme.nts. )
There are three distinct pnme numbers

whose sum is 2

Questmnti ro those three numbers?
Wha - is less than 23.

_1 : Their sU ,
Statement-1: T f the numbers 18 S.

KSPC-B-GSPT/61A
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Statements -

Which one of the following is correct

in respect of the above Question and
the Statements?

(@) The Question can be answered DY
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both  the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

68. A Question is given followed by two

Statements 1 and I Consider the
Question and the Statements.

Question : Is (x+ y) an integer?
Statement-1 : 2x + y) is an integer.
Statement-1I : (x +2y) is an integer.

Which one of the following is correct
in respect of the above Question and
the Statements?

'(a)' The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both _the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

[P.T.O.



69. A Question is given followed By two

Statements I and II. Consider the
Question and the Statements

A person buys three articles p, q and r

for .( S50. The price of the article g is ¥ 16
which is the least.

Question :
What is the price of the article p?

Statement-I :

The cost of p is not more than
that of r.

Statement-II :

The cost of r is not more than
that of p.

Which one of the following is correct
in respect of the above Question and
the State_ments?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements

together
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70. A Question is given followed by twoO

Statements 1 and II. Consider the

Question and the Statements.
P, O, R and S appeared in a test.

Question :

Has P scored more marks than Q7

Statement-I :

The sum of the marks scored by
P and Q is equal to the sum of the
marks scored by R and S.

Statement-II :

The sum of the marks scored by
P and S is more than the sum of
the marks scored by Q and R.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(p) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

[ P.T.O.



pirections for the following 2 (two) items :

ol the following two Passages and angw

e items that follow the passages. Y i
JSWETS to these items should be ba; dour
the passages only. o

Passage—1

Unl.ike religion and science, poetry does not
posit or expect any belief in absolute truths.
Those forces or individuals who claim to have
absolute truths in their grasp tend to turn
dictatorial and tyrannical. Truth usually does
not admit any contradictions or imperfections.
[t is unitarian. It is, therefore, not of much use
for poetry. Poetry abides by the plurality of
ife and existence. Perhaps poetry follows
-eality which is plural, anachronistic, full of
ontradictions. Against the tyranny of truth,
»oetry remains a partisan of democratic reality.
\gainst the arrogance of power, wealth and-
ierarchy, poetry proposes both humility and

lefiance.

71. Which one of the following statements
best reflects the most logical and

rational message conveyed by the above
passage?

(a) It is .the poetry, not science or
religion, which recognizes and
accepts imperfections in humans.

Truth is revealed through science

(b)
or religion and poetry is anathema
to truth.

(c) Poetry is romantic, imaginary and
is about feeling whereas science
and religion are about truth.

(d Ina world of violence, tyranny and

bigotry, poetry is a form of dynamic

resistance.
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Passage—2

The flower was not invented to please us. It
flaunted its petals and spread its perfume to
attract an insect. The insect carries the pollen
from flower to flower so that pollen is not
carried away by wind and thus not wasted.
What we call a flower’s beauty is merely
a by-product and a human invention. The
perfume is not there to please us, it pleases
us because it is there and we have been

conditioned to it.

Based on the above passage, the

72'
following assumptions have been made :

1. The author of the passage believes
that flowers are creations of

Nature’s luxury.

2. The author of the passage does not
believe in the usefulness of flowers

except as things of beauty.

Which of the assumptions given above

is/are valid?
(@ 1 only
(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



73. A Question is given followeq by two

Statements I and II. Consider th
. e
Question and the Statements

Age of each of P and Q is less than
100 years but more than 10 years
If you interchange the digits of the

age of P, the number represents the
age of Q.

Question :
What is the difference of their ages?

Statement-I :

- The age of P is greater than the
age of Q.

Statement-II :

The sum of their ages is 11/6 times
their difference.

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

The Question can be answered by
using either Statement alone

(b)

The Question can be answered by
using both  the
together, but cannot be answered
using either Statement alone

(c)

Statements

(d) The Question cannot be answered
even by using both the Statements

together
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@: A Main Statement is followed by four

e

If a+b means

Statements labelled P, Q R and S
Choose the ordered pair of the
Statements where the first Statement
implies the second, and the two
Statements are logically consistent with
the Main Statement.

Main Statement :

Pradeep becomes either a Director
or a Producer.

Statement P : Pradeep is a Director.

Statement Q : Pradeep is a Producer.

Statement R : Pradeep is not a Director.

Statement S : Pradeep is not a Producer.

Select the correct answer.

(a) SP only
(b)
(c)

(@)

RQ only
Both SP and RQ

Neither SP nor RQ

a-b; a—-b means
axb;, axb means a+b; a+b means
a+b, then what is the value of
10+ 30-100x50+25? (Operations are
to be replaced simultaneously)

(@ 15
(b) O
(¢ -15
(d) -25

[ B.T.O



g. If P means ‘greater than S

7 Q means

’ 78. i .
less than (<J'; R means Mot greater fin a certain code, POT’ is written as
than (#)' ; S means not less than (¢) and ATOP and ‘TRAP’ is written as APART,
. th o ¢ R . :
T means ‘equal to (=), then consider cozn? SRR i B il
the following statements : ¢
(a) AARENA
1. If 2x(S)3y and 3x(T)4z, then
9y(P)8z. (b) AANREA
2. I x(Q)2y and y(R)z, then x(R)z. () AANEAR
Which of the statements given above (d) AANERA

is/are correct?

79. What will come in place of * in the
' sequence 3, 14, 39, 84, *, 2587

(@) 1 only
(@ 150
% SRy (b) 155
(¢ Both 1 and 2 (c) 160
(d) 176

(d) Neither 1 nor 2

80. In some code, letters P, Q, R, S, T
represent numbers 4, 5, 10, 12, 15.
It is not known which letter represents
which number. If Q-S=2S and
T =R+S+ 3, then what is the value of

77. If in a certain code, ‘ABCD’ is written as
24 and ‘EFGH’ is written as 1680, then
how is TJKL’ written in that code?

P+R-T?
(@) 11880

(@ 1
(b) 11240 (b) 2

3

(c) 7920 @

(d) Cannot be determined due to
(dj 5940 insufficient data
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